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1. (1) there are only about three hours of darkness
during the summer and only about three
hours of daylight during the winter

(2) the northern part of the world
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(3) to cut the string of the other person’s kite
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2. (1) people (in Pakistan and Afghanistan)
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Weords @ Allied @ communist @ impact
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Werds @ poverty @ rebel @ brutal
@ conflict
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Vocabulary Review p.30

1. (C) 2.(C) 3. (A) 4. (D) 5.(C)
6. (B) 7.(B) 8. (C)
9. acceptable 10. outfit

11. extreme 12. visible

13. objective 14. trustworthy

15. conflict 16. innocent
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Sentence Simplification

Basic Drills (1) p-34
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Reading Practice p.38
1. (A) 2.(B)
Werds @ practically @ transport @ estimate

@ duration @ starvation
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8t oFAo| SiLRl “E7t BIR'E 0[0fX(Ct o= 2|FtoA Za| 7Lt TSl lolE
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&y Words

O profitable 0|52, 0|52 E= O backbone St &

O practically 79|, &dxXe= Otoll ARBAlL 23
O death rate AIYE O capture FCt, Zaf6iCt
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0 =
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Werds @ attract @ potential @ aware
@ demolish
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X7 Words

O be attracted to~ ~0il 0182 L7ict O ingredient &

O associated with~ ~g} 2z O notably £3l. I MM

O be aware of~ ~Z 1 Qlct Sct

O demolish otz

O potential &xj=o] U= O severe Alst

O ban SXlstct
o0 -(‘;H Aél X
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20 ULt “in most cases”= “usually” 2t 22 2|0j0|H, “is only

effective” 2t “only works” £t Z2 9|02 ML},
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Werds @ convert @ disorganized @ advance
@ eventually
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&7 Words
O equator M= O relatively 43|, b=
O characteristic £4 [ conservation &
O generate ‘44siCt, BHE0| LiICt O impact &

O evolution Tlgt O essential 25t =40l
O compelling Zsh 453 2= Oundergo ZiCt,

O prompt MEsiCt, SLstct

O define Folatct

O adapt X33ttt

2. Fofl O|0fXli= “or loss™0flAf O] THO{7} "glofr{l 2] Hic ojn|Y ZiRls
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1o

larger part’= ‘2 g2 7IZICt = 90|22 MY 4 Qlrt,

4. |20 FOIT EAM7t glea 2 L84 7he XA HI|1E T 2L,

5. 2% YEE9| “The timing of these changes closely matches

important steps in human evolution, ..."0lA HZE HAHZ 712

zZIct,

6. FOITI 22 Ct3 Ul 7H| ojo| HIZ Y0 Qlct "0 WE 7|S
50| A|7|CH/ Q1ZH0] =TS BHET| ARGt/ 2 S22 AfS sl
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olsk= ZIEsHE X|AIS LIEMLH =Lt “production of stone tools” 2t

‘hunting in teams”™= 22k “making stone tools” 2t “organized

group hunts”2 7}2|7IC},
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6. (B) 7.(B) 8. (D)

1980 Tholl= o chol & MAIKe= Zret o7t UACE. 0f213t
gith= 198601 OFAVIXIE HARY Z[2tO] A2 Ot U= e
LTAO 2t 0|2 o HACH Atz QIshA 132 5HE0| Fi= AlFE0| 1
2 MOk M0, OFElE LA FH X|H2 I=2 QHE Y b

O Al= EHA L HAtZo| ZHRE At HAS

Hu
re ok
m =2
M2
]

2
W
=)

>
un - o
=4

r|r£
§I|=l
>
[N

- T
un rijo

o
RS

P
=
olr
mjo
oo
k=
)

=
£9| g £=5 Mol MOoj=lX| ¢2 HES 2

Hu
N
[
oo
4n
>
X
3%
ful
re
=
[l
>
rir
rol
rE
=2
ﬂ
B 0
rol
w
(@]
=
Io
pt
=
ol
o
>
oo

Mo oT
o
4
on
=
30
3Q
bl
3
4o
>
0
3Q
o
>
oot
l
ofpt
2
rio
_>'-|_
Hu
rr
MHI
re
0z
S
T2
oo K

N}
=

o
ar 10y TR

L]

0

iy

= fjo

>

ngljlulﬁ "

N rlo
>-(rJEr|0‘|\>,I
o X o 5 ]
o of =
DQ_LIO_L
rlo N

|:||ﬂ.|_>‘|_.
T o
oL T
P = M
N S &
g 7 1o
— 0
.
° S M
o & m
E."‘ﬂ.ﬂo
R NE &2
rr Al
Sih
Mo g
=g
T sl
_I_;\J_lj_
H 3 -
g K
o o W
o Pore

N
rd

a2 0z
k=]
o
02 o
m
2
>
o
k=]
o
1>
g9

Ch. AL 22 56H0| AR YAls 282
&35 2 A 20/0F LELLZ| AIESH| W20il, AR AFUA 4
oot LHX|X| PSX| ZEC}. 70| WEH, I ATZ 2F
CHE 4t X|HECH 27 108 O 0| LIEHGT
f =8 olQlol= A2 =2 TIM[Zlol Sciet XX 21
ol M= O] Alvt HRE E Hl2AY K= TS
ZRTH MAMCRE M2 HUFA AME 79
HAHASE O =X W20l 2 =
I3 2sHlE 2RI oUXIe 2L W0 B2 U250

o
TS AEfst Qltt oIS S0 =2 4%, &= o |zt o 3

N
2 o
og ™
o o2

oot
i o

rin
2
lo

- rlo nz >
oo
T
rlo

e
—

2
my
)

oN

HI
S0ln
N B
™ 1o
Ly
T
rio mjo
mo .
no
|.|'|

B
[l
=
ol
:

SHUHAS 71M8 242 A 25t QT 0| CHAl S0{Holl T2t , |
8 ZH2 A7t CHA| LOJLEX] 92712 sk 450l gict,
&7 Words

0O opposition gt 0O nuclear power plant s##FA
O to date XISl GAke O contaminated @&

O reactor #xt2 0O safety procedure Q& Hx}
0O control rod o0& O radioactive 2AMQ|

O death toll Atz Disolated & 5iLtel, Rt

Che 20N g R U BARY 7H EGICHD 20Xl M2y
of szl At 2 Ql5H SO0{t T MIAIXQI sittMof st BEZ0|=2 £
HEol ojo| AU EErE ot

02 2H2 Ch3t 22 F 42 ojn| HIZ Ao UCH “ol24Et
fiths 7 Aol M2 sHEMA ol Z4t 0|FQ1 198601 St
=0/ 0] AA2 OFR= AN 7HE BRSH siAtT 2 22X Tt 0] 2
oM Lotz St o] st St BiCHUS ofsshof Sict. (A)=
HEoll 7PZRIT, M2ldo| @5 Elistn Ut S22 21 B,
(B)= 2&9| oln|E =2 sA5tT Qlon, (C)e AR st Bithot 5
JRRiCtD jloo 2 E21 Holct

07 242 Ch3at 2ol Al 7He| ojo] eel= M=l QlCt. “E 56
0| At & ZA| AHLRHCH/ SHX|2H HANS Foll 2212 S1k= +H F0i[of
LiEtLtE 227t ooz | ZIFSH AUt = 2= oot LXIX| 2
K= BEL} “surface’ 2t “appear’= S2l0{0|Ct. HEtol| 71E 717t
(A)= ‘otot YHXIX| LSX|= ZECH = WSS OFF] Y34X QU] ot

1 siMsienz galt,

=

“all but stopped” 2| 2|0|8 "2H5| ZF HEA| FCH' 2 sHAlstn
X2t o] ®SO| EHIZ ool ‘Ao BF YA Lt oct (C)= &X
5t = WHAS0| 252| QM| thet Azte gioictn ooz o
7t 5{ Ct2Ct. (D) & 20| Hele| hgS MekshAl g K| ot

2

]
k
e
my
ro
>
El
N
inl
>
e
<2
il
Ral
52
N
T
i
4>
iz
2
gQ
il
rr
=
ol
2
>

A10 mTOEFL READING



p-

Vocabulary Review p.50
I I
1.(C) 2.(D) 3.(A) 4. (D) 5. (A)

6. (C) 7.(D) 8. (B)
9. attempt 10. estimate
11. duration 12. eventually
13. aware 14. dissatisfied with

15. countless

16. demolished

~

part A ==

Factual Information &
Negative Fact

Basic Drills (1) p.54

1.()F @T @F
2MF @QT @T

1. SEE2 MRANAH FAS #s17| /lsted 1t a2|A9] EA=7HE
OflM FAI=IUCE 7|3 776H0] 22l 5 Hm ti3lol A= T2|AQ1S0]
MSATE MQICtn LA STZAL OfZOIM2] =2 ZAF & 5
HOICE. 7|3 5SM7(0f 0|22 SZTI2 J2|A = SolM 71 L

FZ0] =T oR] 71X BRSE FIIEIUCH I2AQISE 40T} 0f

O 71 T2 whofl thElS JHE[GIA T SEE #AlE FAUC. M S

28 722 2 7|zt S0 22|A =

Ch= Z0IACt.

i
ra
o

o ror

2. EI| BMEQ| HE 0I5 7120 e NS 2ot Mol KEUCH
EfQYOZ R ChAl B #AQ1 24 (FLIE|, Jupiter) 20t 5t
Alg ufz} 0|5 x|ojict o ZojlSe 2MS AH 2 4 IUAK/EL,
ZrHo| TSRS 2H0| EiYAl A F 71 27| H20f of A9 0|2
£ et 0|7 0I5 XIICh o ZoKRISS 314 (0124, Mars) 2
I BEE 4 U, I B HS M njSof ®o| Ao 0|22 u}
o 2 E3ict 02 Alo2, FH(H|HA, Venus)0l2H= 0122] 7|¥
Q1 AlZo| A ARIZ 2 4 QU= $40| 0|20 ARRE oot
Basic Drills (2) p.55

[ 1.(C) 2.(A) 3.(B) 4. (B) }

1. 2N 2% Jiols 22|% 71 of 22 Aol £ siutolct. o] AHols A
0|52 BHSX| ofert A7l o g o1X| HED, 2olu2|710f M2t A4
BiCt. Algto|Lt MX} 20| E1 0|2 2 Z0lot7| 0] e &
OlL} ol SUct ZA SE 70jo] £ X|YH0|X|= X, Z4Zof Al
23t 2HE Yoz 4 QIch. A 22 7o B2 M= 01 DEAY
Cf o 2 2Hl=, 1 S%0| 22 Mx FHo| IR A7l Ho|d]
Ol MEH7} 2% 25 7IK| XI&Elo] 2717t Z QUx|of 0l2E AAl =2
ORE g2 4 ok £, MX7F WIIIIKIE 67014 8%0] 0|2= 21 Al
Zto| Zel=d|, ofE A0ll= 20| ZRE 4 Qict

Answer Key Al1l



CF. S22 A3 717 20 WE 0|27l Hk. ol Sxfel Y 2 B
of £ o Heolct. Akt 0] BSL WS Klof Mot 5, HSH Tt
o2 OIS}, 217H50] 1SS BHE W B0l Fch 014 ofz|| A
CHSt ZE T MISI0F FC. O[ZH Z2ist 552 o= Q1to] 0] 4 %
USTN? S B SBS TR Ol0] TfEt B2 & 4 Uk 52 Bo
[T (RS S 201M LATCE 0% FAIRISO| A2 52 F
o HEIIIHX| 7ICHRl $ S0l S0PVt S Mefol BES SHCH= 2
2 YAJBict.

3. 2N F2 $20t 3 40| SH FI| U2S 085101 OIS At
GBI O] HOIS HiSHs 4 02 OIME 1) WiE 22 4 Qi 4
Of 9l BE 20| B2 MM L2 4 Ut HAYS W 2
HNOIE, HE UZOASE BT S WA £7H LS
MM 2 Hof2|2 SOiEECt S 0] X WY BARORE 1 B S
22 F0Pll= SEsict. 2ol "EA J) 2= Saled| ojz2
7| HOR AAOICH 7Hs BOfsks B0l BICHEOIXI, 72| ofer

Lt ei=ct. 2840i0l 9l 20iM= Tafo] 2, 7{=0], ARlols XIS}
HEf2|7HX] SrAgict

4. 18004cH Fol, cheieol 97 Lialse HLol e XS JHK|n
OBt ol XIS WUT 0|S 5 B2 YSe Tolskn LEAst XXt
%ICh. OJ Liato] WSS 21 4812 Folstx BigtKlEt, 150] 012
Thatst7) SIsh & 4 Rl K2 7ol T TaiLt 16M71et 17470l
Aolat Meiztol A AZo| HS 67| AR 2RSS 0] £xt 4
QIS0 L MZE LRE 37| th20] IS 5| RAIZ 45 9iT,
250 H2 9| AR

o0 EH/\S X

1. keyword?! “the most severe effect’E Z20|A 2O, OFX|2fof

M M HEj 2Z0f| “A more serious effect” 7t QI I2EE M| 2%t

J

q

o x = o o A
= H1Isio] YES s 4+ AUk

2. “kill the cave bears”E keyword2 50 3to™  ofx|2tof| A H| sHm
EX0| “beat such powerful creatures” 7t LIES & & QICt 1 49|

&0l &2 =0|7| o{4 % 0|F0ICt.

3. keywordZ “eating machines” 2 5t 220|A o™ Zof|Af M|
W 20| 22 “eating machines” 7t QUL 1 C2 & 20| 0|

A 22l= 0|RE &5 A¥sliFn Ut

) 230 “however' 7t LI2CE. 0{7[0l1Af & LISl gich 80| Lig
HOIRH= 78 £58 4 ULt 5, PRS2 4OIS0| L MZ0| BRs
H OS2 SAE 4 YT, 1 G20) 4oIS0| HAS Tl ASCHs

Basic Drills (3) p-59

1.(1),@ 2.2),0)
3.(1,@ 4.02,0)

1. 2217 (Golden Gate Bridge)
EIIEE}. Qo] MIZEA|ATOf

rrrir
4o

H-|
>~
N
N
oA
2
k=
il
ra
1o
w
o =
rr
ini
i
4>
rn
=l
e
[59)
el
32
iul
[N}
sy
>

1929'.-101| —?—tH(Hoover) thE&a F(Young) Z2|ZL|0} FX|AE 2
20 1M AZS AZRRICE ChalE 19338 2F5|o] 19370 &2
QiCt 132, 2RuE= MIRIAATO EQ5H 2 A F9| 5lLiv} &
et

2. Iz ulAjote] SIXtER mate W

(Flores) ”OHH QI

UAS 0| StME
0l ?r".':*.—l |_1|or[1|eero 0| SiM CIRet= CI2 B0 XY, 227t Y1
Q= QlRet= 25| L2 Bol2ta Mzistct, I3l &£ O E 7tset o
Holl= Ao A 223t (island dwarfing) 211 S2l= 240 QICh, Akt
E0| MolM 3 & 7t DRIZ(0] A= FR0l, O 2 HTo| Tt A™
0| BE517| h20] HAS o2 FIBI5H7| AIRBICH UR SIXIES 2
E2A MO| SIME0| THX| Mo| oA LUES} siatel FTEQI oY &Oo|

3. O/=QIS2 19692 78 20¢. z|x=2 ol ZS3ct. 2 0|22 3E &
ot OFEZ A2leZ ol oA # Of Cigten 800 2Ee| ¢AMs It
X2 SORRX|Z 012 ARIS2 2 S0|E 47| AIRRICH 252 2
AOFS MIX|Z 2ol HA AHFsIH 23 ZYo| UM 7Hx| U= LEE
UHCIRCLt OFEZ A&l2 0§ =0| B0l S e AZ0|AC. 0FF
2 13719] stz Qlah M”*"* il F2| SFH|AAL 20l 022 133

719 Ml RFTHIBMEE 72| £ #5IC TJ2iA 1972E Ol E2 AH|1E
2 SHEAXL, ofF= IJlﬂ_ﬂl P AARY 7R floiet e B9 SiLt

2 ot 2l

=

4. ME2 042 TaX0|7= SIX|E, Eot BR5P|E St ME2 6 &
2%t JISE Bith Mz ME2 & 42 51 2
X

q217 o2 7ix| WO R MES L9l 4
B2 LRl = BR0| S5510] EUE MRE LIRS 845
RS0 ECI. CIZCILL OfE LIRSS Mot

Lo= B}, m2A L2 A1 833 AIE Hxls Mz

x|l:|r! Q-|I:l:-| AI-%%O x-lmi frifo ksl |.|:|.

oe -(‘;H )\él X

was needed” 2 L{&0|, “in order to
JZ O|ahsHoF Stct.
CHESHE ARZHO|H,

2 H0[X| SH0|

1. “as the city grew ...
deal with the growth of the city” 2+ Z

=

E —

“president” = o”éi £, “governor’'e FHE
g

f2| AN 59| BAXO|

—v—:l:

A12  mTOEFL READING



2. U2 WSIXIER FloresOlM LT SME0| YIQIH2ERISKZ 2A4X3]|
t2 Z0[2tn MZIRX|, 253t o] At Lox| 424 “iliness”

= “disease” 2| 52[0{0|c},

[

3. ‘They had beaten the Russians to the moon”2} “a victory
over the Russians”, “the risks or the cost” 2} “expensive and

dangerous” 7t 2t} paraphrase®S 03510 SiCt.

4. “The ash from the trees ... better for new trees.” 2} “enriching
the soil in the forest”7t Z& 2|ojo|H, “get rid of old and

diseased trees” 2t “prevent the spread of disease” Est Z2 Lf

SYE olatahor Birt.

Basic Drills (4) p.61

[ 1. (C) 2. (A) ]

,

1. XSkt SAEMA RE2E (off-road) AFE 525 0] AFE
KtEAE SIS 252 Aol ABE M7IEE AlEH 27| 5l 01
Ch OIS 501, QEZE ZF0IA H3H0IAE M2=2 AITI0|L HI%Q

A= 2 At XtSAto] HEHE 4 Qlot, E QURE A= XtEAt S|
SOl 528 & £CHo|Ch 1 3AL| Ap7F BF0l|A 012 B2, RISAt
oS s2len =20| Ect RFS 2E2E AF Folls n2l-Cch=
2| (Paris-Dakar Rally) 7t QICt. 0] AFE ZHANMEE ofz2|7t
THX[ofl 0|20, MOIMEE AJLUTIX| e 4 Qs 2E E72 XS
SIBICE. 0] AF= XSS 01 SS0IA, BE AHS0| TR}
& StX| REICt EEfst7 |2 Hofl 10| Lh= Z0|ch P Holz mh2
ofl, 0l AF0M &5t= XtSAt SlAks MIAIIAM MY 209| XI5 THE

| I'I

2. MO ZR0IS EAT SHY, A4S 28 SIA S M AL QT
N7 BIAR 713 £ BMOIR} 1Y A2 FRO| SOl JHIiE At
oint Zojy|of 2ainetn el H1 51 SIS A, 247 5
At 3 FEs o2 4 r %Hgars #0) 8ol 582 Laln Y
HICH MBS 012 ol ZF Zof OfaiA PSO{FICH 23 s
© 12 23 743 SIEIE HAOIT CiafE B8l M2 0JS0fH 2

: Zue BE =5 sl

I fUHX|= gt B2 o] glshs st
4

o0 -&H/\éi °0

1. “to test new technology” 2 “to test new advances”, “increase

their sales”@ “promote their cars”7t 212t paraphrasezte #g
0lataHoF StCt.

2. keyword?®! “cinder cone volcanoes” 0l siEst= WHES SH=Ct.

‘side” 2t “slope’= &2 £OE MY 4 QlCt

Reading Practice 1 p.62

Werds @ accurate @ noticeable
© lessen, reduce @ sand dune

BxE

Xt & EHZE M 2AX|2] Li2tE2 sl2l#elt etSe=2RE HE o o
2t IlsHE Yof RATt. Has| 28 o] £EF30| 0 of Zelix|z Q= AL
2 29 400k a2y ol PEslE HES #32 ofLct. O FESHAE,
O Z2S0] et XXl B3 AT EE AT 7| w2 of 2 o
S 1 U= Aol

EZ0ll St xR0l 25 HA MM 7HY EQE A BRE (B#S) 0l
Of. Bx=E YEXO= kM= RE & ojesto] Hoix|x| g2 ol A
= 255l §2 430t EX=S2 M7l 0121 a2t chRZ0AM 23 4 U
X2t 7bE 30 SEHE AS2 0129 S2 sifofl AXlst UCh BExe=
E39| oot aiotol 2] Hofl fstAdezM e St B34S 0|20
0|20] EQ8t 0F= s12|A|2 msiel cict7t O] i D=2 2leh ol
7| [EH%OIEL ERETHARRIXIEAM, sl 27| TTIK| TEol MBS 2A3tA|

W= HOIM HFICE

dloll= 27| & 7X| Ol7 7+ ATt H = 0
SEE] H”’ =0l f JEE &5 st SYR(07|= SiCt. ol S=0|
Fak= (

BE) 7t ZO1ECH 0l AL

HT

|.

H1

N

>

[if]
E

3]

30

e rir

10 Cig i85 tie 4 tiv0l 8221 HRIC O Ol9E U
2ol ¢ ZM0ict. BES 22 Sof BRI &2 7 KIEOR S B

YE §2 YSO| JI2UEC), 03 H0| Y0l MES T 0K Hct.

¥ Words

O accurate kst O noticeable YOkH7| +12

O offshore sl BOE! Z2oflAf
Osand dune AR, E2ielE]

O barrier Zof, gt
O lesson &0|ct

O disappear Al2tx|ct

o0 -&H Aél X

1. “small offshore islands” 7} “barrier islands” 2t Z+& £ 0lslaH
Of StCh Xy 2¢Ho| otx(atnt Enff 2Eo| K 220iA SH2]AHQlol| 2faH
S0{tt maH7t oA ME0| QT Zfzt

nx e

Yotz At

2. 9m & "Barrier islands can be found off most coasts around
the world"0lA BX& (WK Hgs sk M, barrier island) 7t ™
NAMo=z g Qlctn oo 2 (A)s HRE LIEolct,

EEol M2 0] HE 2ol SHS XSCE THeo| A

Q) =
FE AR (22 =) 7t otl=|n, A7t glols del B2 £20] £

Answer Key Al3



Werds @ distract @ bump into @ typically

O tempting
ADRR|7]

HE FUUSOIA 22 A7 flsh =2 2T FoLo| £2 22 0
s ==5UThE A4S Ydole g2 A4S0t 2 32, 1 20| 8=
S ofot= ADHR|Z|ofl A @8t A0ICt. AOHX|7 = E410] LOFRHX| =5t
= Atojofl F=HLOIA XIZiolLt 271 EX 7k ==0ICh

FOf ADX|7]2] 712 7IE2 FOE BMAI7I= AOICH ANiX|7I=
misixtel F5 2AAFAM T7F FHLO| &5 #u UCt= AMME UX| R

Aol FHXI= Atojol *UHX|7|5 llIoH?(f—l Fouol &2 #s Aot
BRX|s o] FHL £ £9f AL K M7| HZ20]| TisiAls =55
o

I Ut AHE Hoiz UX| Zeith AiR7IE2 5 F2| X|0f Lt
SF ADHX|Z|7} Off Al X|IZte SR US W CHE ATHX|7|= T Aol
A 7tM BRE Zolct. R AUX|7|= H=RA7| W20 FOHAZ |7t

O O{&ECt.

SIX|9E ADHR|7 |ZEE AAZE BS54 Ql= H 71X| o] it A
Hile 2E =2 8 X|Zofl 210 CHUX| 9= Aot 19| AMfX|7|SE Bt
Hofl St JHO| x|t E& 4 QUCt, E 2 W2 X|YS ¥ FHL o €1 ot
Lle Zo|ch YetNo=z of T XIZg EX17/0 71 ofzie oLzt
A HEE2| AMHX|7IS0] Aot otX| =Lt DIXUCE, BEAUMH &
O|X| U=E L2siat, AMXVIE2 AHE0| 28 HECH {7t I O B2 =
£ 1 CiHoks AS Y7| a0 LSS olS0l|A| ElLts B cieo|ct

&7 Words

O purchase 7Y O distract 2| SE{cz|Ct

O bump into 5| oEEX|CH Otypically 25, #atA|
Otempting K242, ELi= Otarget S8

° SH Aé‘ °
1. 27](A)Q| “accidental contact’ = 222| “bump into” 2t Z2 2|0]|

olct =M 2EIM ATHX7[S0] HEAS2 FoAE T o2 =2]7]
o

aliAf M= O] Chet 2B HE 4 L.

2. M ZToll ADX|Z (oA Estx] §47] I3t Ml ZEX] 0] M=o R
=0, M= FHL St 28 =2 20 OUX| Y= ZJOII, %MHE
o FOHLIO| KPS E0f CiL=

dSst= AoIct. (B)2 LiE2 HFEIX| 2UCH

12
Ho

3. O

ol ATHR7IS0| HEASE BXO=Z o= 0|R7F 2Lt &,

A14  mT1OEFL READING

FIE 2 MEHES 25 HE2n 22 =2 7iX|1 oiL7| R Etts
| ciefo| ECtn ok J2{o2 HPME AR|7[6e R o 2
0| &=Lk more profitable) 1 &t 4= UL},

Reading Practice 3 p.66

Werds @ practice @ seemingly @ spiritual
O widespread

AO
E 43 W= 27|

o Estoll= 410l 8719 A
H7|0l= JHOlo| AlFo| 85| 25t
H
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0] 23 = X2 ZoiM ZIZX|EC

? 27l oFF ufiln E2| I QU= ofAlo|ct. Fetks| |
|0l AIRE|RE=X] OFRE 22X|2 etz = 2 Z7(of Tt
M 7122 OFEIX|= 0[2{3 HS0| &5 Hot U= =2
Zo[ch J2iLt Aoz Wtz = ¢ AI|7H H7(0M AlRE]
= ¢ Z7I= otH2[7t EFURE L=lof

q
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02 E

i fu

Ao o M

2
i
Rl
o

N
-

H> o 39 19
+ u 2
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HF 28 M UX| t= éh E7|= 21 HHE XILA
o= uu+E| 7:-||:FE|X |.
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&7 Words

O practice A3, &g, oA O courage &7|

rr

0O seemingly E7[0] O widespread 22| I Q!

O guarantee 23 O spiritual Aol

O purity &4 O layer &, 2lo[of

Oinjury Al &4 Oas long as~ ~a&t= st

of,-HAélc

1. S 2Tl “fire walking” 2l 7|20 LE2CH Q=0 M 2|x0] 7|=0] &
HAZ|RAXITE, Onf Z0A “That, however, is no guarantee that the

practice started there.” 2t 2F5| L2t )Ict. 1222 (C)= HZ



=l Lfgolct. “originate”= “start” 2| &2|0{0]Ct.

2. A 2%of o] oAl Hst
courage and faith"2t =0, 0l “test the strength of their

religious beliefs” 2t 22 2|ojo|Ct,

rr

O|R7F MAI=IRACE. “test a person's

0

3. ORX|9 2ol =™ Aol 8 0 22 M UX| o™, &Iz =t
o

NN
a
ME XILEM 2 AZQ| 2 ojo7| &RtE we| ME=IX| d=rta Aot

iBT Practice Kl p.68
1

1. (C) 2. (D) 3.(B) 4. (A) 5. (C)
6. (D) 7. (B)

E=ES

S RS2 o GRI5HE 1 Ho| B2 T (hHE0| Aict
S 78 UM Itk (A, O HE3 20| ofLlEt XIRA0| T2 B Tt
85%= BEHCH) chezol ARRISS UsHEo= 0[240] XIT0| 5 AHct
2 AB TH20/CHD WOIS0T ULt B2 AFS0| 221 Y %L 0|
20| IR K7 AR 71 2130 (HRBOISICHS ARMOICE XIT SiAjol=
0] 20j= CHBO| YA, 1 3 OfE XSS TBS THAIZILC BY
LIt

HEEL BeRIS0| X7 B0 B 3 MR HIS0| MifxoR Fe
AIZH(4 Bt 1 Aol2)) of BE3H= 228 XIFsts Sojo[ct. 227t ok

Q

2YETH =, AL FAl S22 HEE 0 AU hZolct,
sfimt2|Lt 2ol 20| W7t Y= SES0IWY| W20l 217 A7 £ U=
SHMS HIIXI 2T 1 0122 tHES0l| theil M= o To| LadFict. J2iLt

SR & 4 gl= A2 0[2 BB Helo| fRAUX|0|C}. DEIXE2 7HY

0z o
1 30
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2 N
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¥ Words

O extinction 2% [ species &

O asteroid A4 O crash &=35iCt

O portion Hlg, &2 O primitive #AIXQ!

O jellyfish sfimtz| Oslug 2ol

O widespread #HeIeH 2l 2 Oinitiate REstct

oe -(‘;H*él X

1. 5-6M S0l T=H X|729| HAtof 0f2] CiE 2ol BS0| %A1, of

T 2SS P27 YW Y 6H 5uE 3 Ao WEWCH AZCkD

= R IO N
UCH makM (A)7H Eo] OfLlah=s A2 & & 4 AeH, LIHX| 2715
2 “most recent” Xt20f| cils B 7hE MHS H7|E nECH

= 749 oo| B2 RAE|0f Qct. “THEE

5} 2/ X[FAel B2 ZE0| Hlm™ B2 At
of E&st= 4RE ”e%._ﬂif" (A)= TfSIXIE0| MEES FOIttD goz
£2|0, (B)= “significant portion” 2| LIS teea| T Ut (C)ollA
= DS AIB3= Ol MAIE 8ot 20| gict,

3. %OOHM HHESQl oS 2|1 LA, 0]X0] Hoi= 6t X|710i A

4. 10mf £ 0
this mass extinction because most of the animals at this time
were very primitive.” 21 SHH, 1 [} ZXHHE MESE2 7} 0] 3
Mo| EXfiotx| Y= 2AE SAZ XML 07| “primitive”= “not

advanced enough to leave behind evidence” 2t Z-2 2Jojo|c},

|5tofl 23, “We have very little information about

5. 3-4mf £t Ml Hw ‘:‘E*OH HEZQl 7kt HelS0| MAl=/of ot

“periods without rain”2 “droughts”& 2|0|tct.

6. ORX|2f 25 23-24m E0f M2H, 7|2 tﬂif FES2= 0[0fE &~ Tt
= 4 gxjgh 2 Eo 7|12 Halt ojLtEXlE LA QUK Hotn

7. Z0iZ “initiates” 2 Xt2lof| Ziztel B7|E oigfs 20 2 71y A

5t crojz 20}

iBT Practice p.71
1 1

1.(C) 2. (A 3.(C) 4.(C) 5. (B)
6. (B) 7.(D) 8.(C)

UCH. AR, Z719|

52
rlo

029152 Soluzl7t HX2 T L7k 20| 0129 4ofztn ﬂcloMtr
OlafEt A2 ESECR Saixler, B njT0ISS %S UAs

|0 ﬂ‘:'

oS Aelsto 2 M HEHA

El SO[XJoiLt X|hE FUT A
ZHof
o

Olli= F24 ARZ0] T

_|>|

Answer Key Al5



1800 =01 ElAAE HAIE AZ0[ICt 0|=AS2 O] X[ ==

% ST WHRS0] ofF EP | AIZFCY,

§HEf 18364 E1|0fh:(Ta]anos)EP =2|H 1 0[FUS2 HAZ ol o
= HAtAE 00l &
EE S3=0IUCt 2Lt 1845H0] 0122 BMA SE

M
HESIAC. & HAtA S3=70] 0[gkE=0l HH57|E S23Hch= <ol

io
0l U= FollMA ZH(Neuces R|ver)0|010F °H:|'_I_ MZESHCE

1846, ol2fet 2|4 xfol= ol HH= 0|0jiCt. 01=2 HEO Cf
of FYS defol| fleliM 2leaztb|ol] ZiE Tidsty |2 2EstReLt 0f
= Y= ZIEEE SE H0IRACE 0o tHSSIH HAIE 22 20kt O]
= | E4 SHUE WO, 0j=2 ZA| MHZDE 3HCh 0122 HWAIZ

o

YRo7E SUE =l AUstE D=2 HAANZH ZHE Tiedst
0] o2t FAl HAIZ HOIUE ZH2|ZL{ot= HS3H7| WZ0|ct. Y2 H|
wH FH E5tu, 452 1848 Fat RoFZ HZC,. 0] Hah 22 HY

= U712 Z2|ZLof, wHAIZ, HHict, REH 22|7 of2|
ZUE Z36ke Y 3719 S 0|=0| B74F0{0F Sh X0IUCt. HA|
T B FEQ| Hitof siFshs 0] B2 020 X2t L=tz EX 2 7ix]

O
7F AKUCE Ol= E ENFEAMK| =S SESIIA 3 D=5 B 017
oiC
M

[ml

= Words

O expansion 2t 0O manifest 25t

O settler 0]F2! Orevolt #2te Loy|ct
O annex sttt 0 disagreement 2|74 x{0]
O enforce Zatatct Otension 718%

O capture #fotct O declare M™MzZ5}CH
O peace treaty #sh =9t Oin return for ~2 ti7t2

o0 BH/\éi X

1. 2-3w S0lM B2 £7] 012 AZS0| 0=20] F0tH2|7} HHZ #o
LEZIoF BTt URACHY StH, 0|=2| HAlet B2 #210l U= A0 =38

9| “expansion”0|2t1 giCt, J2{2 2 “spread”?t “expansion’=

Bl olnlY HUS F55 2 4 Uct.

2. Hmj 2Ho| 01=0] FetHez FE SYS o 0|2 Louisianas ZHA
}, Zk

2EH 78t HE Al k. “peaceful’ “non-violent”

3. 11W & ofstofl FRIS0| BtAgtoZ A WA FHR0llM ZESIRUCH= L
t

‘revolt”E= “rebel” 2| 52|0{0|Ct.

4. 2t HHE Safl, 121 Sa| Jm 2FoA “border’ 9| %2 T

== 2tk (A2} (D)= X 20l P2 "2 (expansion) & 4= ¢

ol
=

rr

0] £holo] HFEO| LHZOIA, D=t WA|Z 7 HALAS] FAME F1
M2 O QS 7HK|T AACH e, 0f 00| MY = LHUCt

I SHck

“started a war"= “declared war" 2t Z2 2J0|2 £ 4= /Ct. 20m
£ Olotofl 2H AR Zoi7F 242 0|F ZH| =4 SHLHE okt 0]

= =

£ 77|12 0|=0] HYS MARUCY,

FOIZI BHE Ch2 Ml 7Hel Qo] B2 Pl Qlck "0IR2
HRoAE SUE A=, / kst oj=2 BALA 2 ZHE Tt
243t 20| OfL{2t / FAl MA|Z FO|RAE Z2|ZL{ot= FS3H7| HZ0

L O Al o] ©9lo] LiE0| 25 FatelA ZatE B7|S Sh=Ch.

l_1

Mol A= 22m 29| Hat B (peace treaty) S UL LI
MEE MAIZof QUCh BIAAT} 0|29 5t F7} El 242 M o] Tof Lo
ol=2 (C)= E2I LhEolct.

I'
ne
=)

Vocabulary Review p.74
1 1

1. (C) 2. (D) 3. (A) 4. (C) 5. (B) )
6. (C) 7. (A) 8. (A)

9. distracted 10. as long as
11. accurate 12. entirely

13. fatal 14. massive

15. attract 16. widespread

A16 M TOEFL READING



part B ==

Prose Summary

Basic Drills (1) p.80

1. The new government asked George Washington
to pick a place for the new capital, and
the location he chose became known as
Washington, D.C.

2. Despite this, some nations can offer powerful
reasons for why they have not made guns

illegal.
)
0j= Z|x9| & YAE D.C. (Washington, D.C.) 2REf 2F 100
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1. Main idea: Probably the best-known aspect of
Maori culture is the haka, the Maori
war dance.

Major idea: The intention of the haka is to
intimidate the enemy.

2. Main idea: Many governments, however, want
to completely stop, or at least tightly
control, the sale of such ancient
artifacts.

Major idea: @ One reason for this is that the
demand for such artifacts has
led to the destruction of many
ancient archeology sites.

@ Another reason is that there has
been a sharp increase in the
number of forgeries.
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A) inaccurate (B) accurate

1. (
(C) not contained
2. (A) inaccurate (B) accurate

(C) not contained
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eventually brought an end to the threat of the German subs’
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&7 Words

O crop rotation SHA!7| Ointensive EXQI
O fundamental Z2%{Q! Oreplace CtHAIGHC
O continuously &Mooz O pest 315

O from year to year 0fF, siolct O constant XI&XQ!

o0 -&Hkél X
2xg

o 2L M “intensive farming” 2l 3TN, CH2 2ctof|

jrife) M
=40 =
M O79 2 EXFEE AZstn s A2ZEEH “fundamental” 2|

keyword@! “river valleys”= 10} Z0IA &g 4 QUCt 1 0[5t
HEoIA =7 2F0| of & EZ0IM dEH=X] & £ Ach 110 =
9| “replacing the nutrients that were lost through intensive

farming” 0| “renewed the soil” 2t Z2 2J0|S 0|3H5HOF Stct.

2 047|M “this problem”2 MZ2 2X|7t ot

= AN
iz} Sl QIS FoH s9io| 2REE Jta|Zict

‘82 (crop rotation)’ 2| LIE2 15-161 £2|“Different crops take
the same fields for a longer period” 0llAf A
‘changing”2 “alternating” 1t 52/0{0|ct, (D)= 2t
O EX0|X| 2ZE{0f Cist MH2 ObLCt.

[

different nutrients...

el QAo

E20|M keyword?! “the three year rotation” 2 &2 E‘ 198 &
2 40| E|01 UL 2 AA SO ARBE O 2o, B2 M BES
X2 §ith= WS o Uk o o

"Axlele SAES IfE HEECEM / SHEL HES0| XIAE H
0| S WS 4 e & 2 Ut/ sHES0| A% S CiuAl sk 2
£9| £5 SHHSIo2MY" “change”= “switch” 2t 52]0{0]0{, “from

year to year” E3t “annually” 2| S2|0{0|C, (A)oll= Al i 20| ¢
o] LIl A U2H, (C)2l “but this limits the farmers’ food
supply” 2| LIE2 &A% 0|1, (D)= &M 2lo| thelol LS &

1 UK oH LHEE F0{Zl 281t WX| Lt

“ZloF 5% (intensive farming) 2 218 29| 4M &E0[Lt, EYO
2HH ZE GYRS Aottt

0l01Af 0] 2& 72 Qs @ =7| EH2 4 FHOIM SAE X
So% EY ZHE siZ3T, 20| Sidoz g2 A5 =
Ch @ %02 WS C}2 B2O2 LIs0=M FZ4XIE 50 U2 4
A st Aolch @ E5t 2EE SiliM, siES SHE 4 U= 2otz 7t
A 2 ok (B)e @9 82, (C)= @9 W8S, (F)= @9 tes %

A21

Answer Key



2t Qotstn rt. (A), (D), (B)e 25 2201A AS=X| ALt

Ql
=

Vocabulary Review p.96
| |
p
1. (C) 2. (D) 3. (A) 4. (B) 5. (D)
6. (B) 7. (A) 8. (A)
9. aspects 10. approve of
11. plentiful 12. disagreement

13. advantages

15. infected

14. suffering from

16. alternative

~

part B ==

Schematic Table

Basic Drills (1) p.100

s R

1. Drones: (1), (3)
Worker Bees: (2), (4)

(1) Inan attack the drones would be relatively
useless,

(2) workerbees do all the work in the beehive,

from building the hive to finding and

gathering food

(8) outnumberingthe drones by over a hundred

to one

(4) because they lack stingers

-
-

1. O UEOIE, 7IZHOR U () 7} 44, = BFO| Ho| ek, 48
St 1008 B B2 40 A, ¥ AHF 40l 71y B 228 X
RIBiCt. OISOIAME, YHSE g A, 2oig 7o Dot welo| 2
£ g Bict, YHS £, 0fFt BRO| BARLE|E YHS HEs 2
tHol7| Bic. 2 et olLizt, 2SS A Ul U2, 3
22 YYS U 4OhNOR 2ot gt BN 280 KUt 752

oo t]-HAél X

'BAS YYS 1 AHS0| HThHoE Bt gicy 2tm e,
Ql

=S A1 SAIS HD ROk WK B $ictn Yok,

(1)

(2) wso|

(3) 4 3t o2 Otz oje] wo| Qickm Yk

(4) 222 20| 27| G20f, K| B0l AB0| Yictn Yk

Basic Drills (2) p.101

1. (B) inaccurate

(C) inaccurate

2. (A) not mentioned (B) inaccurate

1. 0129 M5 SARY 1R REE SME F9 stte 0Z7}(EarpXK) 2
SWEIH(ClantonXk), F 7H2 Atolo M Ho{X{CH &2 2to]of
E (Wyatt) 7t 0|11 HZ7H= EAE (Tombstone) OF20IA &2EE 2
F3ct JziLt 252 nt29| AME |Xlots BorteRE UL 2

18

A22 M TOEFL READING



260f HofHCt, SUETH THfD, TS0 YLD AofIUT, B
3. 152 0f= HHIS 59 3 Y2 UL, YOlO{EE 248 Tt
CHIBICE CH2 of SO, 1= SUETI0| AIFES 25 30t F3ict

2£0| ASUA= B4S MBSALL MABHE 7120] YT T2
ST 9IS 0f, 252 XS0lN S 4+ U 20| JZs0rR e,
Trhel ARSI 7Ky B2st i2 5 F IRl ST 520 W B
S £2 WiS0| WA Z0bE 4 AT, TOH ARES TS F2 7
T HABES 22 C12 AjY E78 BHES ARt S Eat I o1zt
S0| L2 it B2 T78 ek Hof ABERI 52 of 2%,
o WII22 B2 IS 4 U0l of =78 et 0| MEc S
MIEHTE 02 S0f, SE7l= X2 LIRS Hof L2l=l ARBE 4 UK
B #E2 B = RS2 oj2{7j0l B25| LUK, YsHHlE 2T

) -E;H /\éi °0
(A)= 4-6Rf Z0IM ZolE 4 UL OK S| AE= F TRt &
L2 fE3E 221 ¥eZien. ClantonZt= XHMIS0| AR St

Xt=2 EarpZt7t XI7|A| E|Xt EarpZtE Sl0f7 12 23 P.

(C)= 6-8M Z0| LS BABITY. A7|7t S0l H7Io| HHS 7wt
CHe LSS 220 oFsix| eiton], S2O| #is WS WAl bis
22 oy ofLal, A 22 BHso] Hr,

Basic Drills (3) p.102

1. Iceland Colony: (1), (3)
Greenland Colony: (5)
2. Large Plant Eaters: (1)
Small Plant Eaters: (4)

, (3)

9M7I2k 10M17] 2, Ho|ZEE S35l 0l0I&R=(Iceland) Lt 212
E(Greenland) 22 =5 X|of x| ARIX|S AMUCH HF AlQl
XE2 d8HoIeLt, UHXl= 2EX| RO ol S0, 222E A
2IXI= 450E 20 AZPECH 22{Lt OloIERE ARIX|=, M7| St
of glZoll M= Hoteol, Hxi= d3Hel =8 =71t =int. JzE

01, 2= 7|127|0) E2 20| &

ot Oj0|SRE 2T LiE EYS 21 Qlo],
I:

X| 2ottt J2iLt of Olo[S2 =Mt 22| JRIZE MRIX|7H A3
=XIE 286l F= S8 X0|HS0| ZXRiTt

Ol0|&RESt DRIZES| FADISE YN S (HF) o2 Hekl=
ol. Ol= EY HE O YIIERCE Ol0|SRE O|IFAIS2 J2iLt, 2
YS0| Y= YIIEACE NS MG, TS MBS | /et ZXIE
F3HCH a8 ZX| B st dMS o B0l He X0|UCE. ofojsHE
AR M MM2 012 2 FES AKX, THEAS2 M ofof
HX| pAH Aoz Holrt, OS2 JRIZES| B2 s =512

1719t RAELE E MEXQI H0|Z (Viking) A AEkS SXIFCH 450

0| At |, SBER RUE H7 L2 TBS ABIKI= Ho| A
5| SlEl7lo] Ol2C DhRIRt 2171, 04712 (Eskimo) 2 & izl
22 A7HAlaska) ©f Ofof2l7+ £F8I 0|91 (Inuit) S0| D22
Soje} (22 RIS O|FDISS BHSHH ol Hoigict, eoret
Z MEH2 olo| oshH B 0/FTISS thE 4+ giotm, 2= M
oict.

N REO| FASSS B8, 15 theRo| 2 3710 #Sw 0fF 2
3710 %S, 5 FEOR LICOJAILIs X ¢ 4 U X2 3]0 £
AES0| o= 437} /D, T2l 2 EAES0| B2 of} Eict &

2 2 37|2 AXol| wat, IVt TEA 22 SBES, OES Tot
Hs U3 2 8201 8| t20l. ZHS2RE Q| Y-S W 27t Ut
EfolLt XI & & 0140 =T, OIS2 Of Ol 5] HE /2 gl &
Ch. 22 0IR2 JSECH 8 2 3719 M| oU7| 2ol 22 ZAS
SS2 UAILL o &M AR 2S5 HYH A = 250 R
TOHHGIX= %S 72hs XS 2nleitt. A2 ZASSS0A UM 7+
T 2 EHES, FHS0| LM AES st US e S0{0k 17| iz
Ol. o= S-3t ARZIoi|2t HO|S Hot Lid 4 ke Zolch E3t 2 =
ASSS2 A2 2NSSEH O 2 283 2= 0l Utk 2Lt 0]
W2 of HojlM= HEoIt. 2 S=52 d=oh=tl o 28 Z2|0, M

1>
Ofn
il
min
mjo
in}
rLu
0+>| mlru
E
=2
Rl
ol
E
rol
il

oo ‘&H*éi X

(1) 11-13m E0i| 2H Iceland O|FAE0| & TS 27| I3 &
HoR Atk MM QIR 2 HHRICID 3YCH

(2) olo| A1 UE HFDISTHO| A0 ChE AZF2 Qlch

(3) 9-10M £ Z=5txt

(4) ST go=M HotdA == L8 220 Ltk UX| oict

(5) 9-17m £ E=5tt

e
drops in population” 2| 0121S 0l3lsHof FHT
danger of extinction” = &=SIC},

(4) 9-10m =0il LI2UCE. “die out”2 "MAS| AsICH 9| Z0|Ct,

(5) o 2 2| M7IE Ho|7| s Cf B2 Ho|7H ZQSt cieoll oSt

AE2 Zl0UX] 2Tt

_IE
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Reading Practice 1 p.104

1. American Revolution
¢ Resulted in a stable government
¢ Involved separate cultures
¢ Did not involve a noble class
French Revolution
¢ Resulted in the death of a king
¢ Did not fix the divisions in society

Werds @ achieve @ stable @ questionable
O status

1776, 0|= ARIX| WXXE2, H=29 £X| 3Ml(King George
1) o] elofl chekell B2k YO ZiCh D= USoA| o] B2 7Tkt 430]
UCt. O3S0 SES YRS L OfLf2t, MAl XX Li2tSolM 2

x| MHME A sl L7 =2Ac

17894, OOtz 0|=21S9| §522 IR &0, ZPAQISE HiiX &
2201 20[16Al(Louis XVI)off Chah H2ts LoZict 20[16M7H 1 (2t
a9 oz HANE Y= S, ZEA P2 of HollM= dSH0IUAXIE, O
A2 0= =8 TYUST 7|12 4352 HFA= R3UCh ZZA HF2 10
HZto| ZA L} =0 St J2|1 O 70| SXHZ 0|0fRICt. Ak
IZYAE S 2 75H0| X H7iX] JiXez orgRiel g FRE 0|F
SHX| R3UC

YA YOl §30| 4| 2ot yAn2 g, 0|59 =8 T
0| SSHOIUE 0IR0I= 0f2f ZIX|7F QlCh HMZ, 0]=US2 F=2f ATl
X| F2I0|UXITH, MHZE M2 o2 HoR CH2 2515 JHX|1 UUCH IS
2 G=QUSE ARQICR dietEQtrt, UE YoM S2lotat, 152 o 0f
o F=elSol thehM AEE 2RIt JoRlch Z8A AE2 SetE 23t ¢

OfoF HoLf, A2 TH o FCt. ZYA Atsl= =D RS2 0|F0H
U=, 2S5 FoF AtS|E X|2{Q] xfoli= 0§ ZICt. O|=0l= FXjef 7t
oF AtEfo| E2Fs| AAXIL, 2Sol7= #Z AMA AACE. L3, 0I=2 4
Yotm QU= Li2tZ, 7Het MRS HAI= §32 7|27} QUet LZict 0fA
2 g 450| BELA o ZYA0| ALh= IR 0|H 0|FSE,

YA A3l X FRE 75| flsh SESHE dlol 2o 2 2SS

&7 Words

Orevolt (against) kg Lo7|ct Othrone &2, &9
Ochaos 7teA, 22t 2= 0O dictatorship =i Y3
O achieve AZ[5iCt O stable QFHEl
O at best 7|7Zatot 0O division £2]

O questionable +4®2, 2x7t Y=

A24 M TOEFL READING

O nobility #H& O prosper HY5iCt

oz';HAélo

1. : Resulted in the death of a king: 8-9W| & &=
* Provided inspiration for all later revolutions: 220 HZE|X| &
2 LiZolct 219l 2& ol Fe2 nlR! ol e g x/o]

UX| 4Tt

Did not fix the divisions in society: 18-208f & &=

Resulted in a stable government: 3-50f & &=

Involved separate cultures: 15-161) & &%

Brought about a more equal society: XI22| L4210} LUX|SHX| 2
=0t DA SH2 MZo| HES JHNe Aldn, 022 §Y
O|TRE AE AZ0| QACE. M2tM & CF AR AZel Hak= 7ML
K| ULt

+ Did not involve a noble class: 19-21Wf & &%

Reading Practice 2 p.106

1. Conditioning
e Higher risk of injuries
* Muscle development
Skills Training
e Longer practices
e | asts for most of training camp
e Players are dropped from the team

Werds @ strategy @ phase @ demanding
O take up @ intense

AIZ AE ol cHR22l 25 37| "E2, Z2HolH, alEold, us
S0 7t £ AEE Art, 8 AZ= = HolM Al 2 HE S A
L0} 28 Auols o 71X 3H0] 2ot 286l MaES FEAIZ
JlES EHAZI7| Y7 AoIX|E, Hol et 2=2l QA ZHol: =20] =
Ch. &8 molM M52 X7EN, 2552 o M4-S0| Hofl g o
MaS0| 22U AWIE Y2ie 4 ATt o F7| F2kol Bloi|H| 7he et
= K= 42 4 ot

U s QiMoo z T 2710 70| AE2 AR 0] HAQ =
M2 Hed| MeE9 S5 E2 JHiz U= UM 0l EE E2ez
T, deE2 259 M S22 F7IsHK= Rttt ACd ZEol=
X3 0|8 2En 23 A0 2EQ| £ J1X|7F Qlot. X7 ACjd =F
2 S Yot UE7| flalf 712Xz w2 27|t 2'o| . 2
2 2dols £ 2259 g2 7|27| AF 80| ZaEch tRER d
S2 0|X0] & AZOIM 7HY Moz Bl= FE0/2k= Ho] S2lstH,



= Aooj| el 24 7h20| Tkt 0] mf Yoftct

28 MpS0| 708 2EE MO R J1Y 2E BR0[2tn MU
UX|TH T 20| BHS| 1A AEYHAE F= BHO|C}, 7|s SE &
AZ LIHXIE 0|FH M-Sl 25 ZX|M0| %= 712 712X HIS
o AZstZ! SHX|T, Ol 70| REEC o @ HEZ pHISICE L5t M
+E2 OE BE 3Zut H|ofl thehM 27| shM 4~ AlzH 22| Z7| H|o|
IZE l7tsof SiC Ofote, 7 AERYAE = 2E2 U=0| O MpE
0| Elofl A& ot US X|ofl et B ZYS Uels =7t AolCt,

& Words

O obviously Ze5iA|
O be intended to~ ~st=F 9|=&[Ct O phase &l

0O conditioning & Mef =&

O strategy ™2t 0O specific X2l

Ointention 2= Ointense ZExol
Oendurance QIUf, ZAC|0f H
O demanding £ =2g Qdl=

Otake up AlZt 32 3 52 Solct

o0 GHAS X

1. - Game strategy is developed: 5-6&f Z0| SHZ X[, 0l ©
M2 training campOfl #siA0|X| conditioningO|Lt skills
training0fl sliEsh= LHE22 OfLICH.

Higher risk of injuries: 178 & &=

Longer practices: 20-211f & &=

Lasts for most of training camp: 20-21% & &=

ERSEN

Players are dropped from the team: 23-241
Practice against other teams: H&l5IX| &2 LHE0|Ct Z27|2t

SO CHE B2l S2(015 2Aeitt K| THE Bt ARt SHXl=

or0+|:|.'

LS M

* Muscle development: 14-158 & &=

Reading Practice 3 p.108

1. Captured Moons
® Much smaller than their planet
e Majority of moons in the solar system
e Differ from their planet chemically
Impact Moons
® Lack heavy metals
e Similar orbit with their planet

Werds @ gravity @ formation @ opposite
O collision

Z0llM XREA OISSiTt7t,

0| Ch. 0|42 URE 1Y

un
o
=
4o
il
5 X
i
H
oolI
2
%
i
~
=]
Ao

=2

o2 g7 4g=nt. 1

Fetg xitel 3ol 2
OIEfE 7*8 QQOUI 0'||:| . i%‘oﬂ AOIM E THE 2HlE, tEEe 2

A 2!
S5 9140] 20| KX W vt} WO B Xt Lal, Yol B
A W2 X7 K Wamh 2T oick ohxisto=, 2Rt &K=l o
S0, Yytsioz mEls

fon
0z
o
N
1o
%
2
=)
oS
&
2
i

N
>
A
30
u]
]
'_
o
N
N
Hl
40
o
lo
n
Hu
ke
m
Q
)
oph
ufn
ruz
rlo
2
o
N
Rl

2l 2ot Jm=, 02 off X712t 2o #=7Hd I%ixl 2l =t o
E25M, A2 XIet 20| of 2F7 stefHeZ H|LetX| dEshs o]

= =30 =oh £ off Hofl it 22 S540| glexle 4

A FEE2 FEE sl RFE BN |0l HUF EHYNM XAl THE
g Aolct,

&7 Words

O gravity 3 Oorbit H=

O object A Otheory 0|2

O opposite Hho] O direction 8

O chemically ststdoz O formation &4

Oeventually 2= Ocollision &5

oo i’_HAél X

1. + Much smaller than their planet: 5-68 & &x
+ Only orbit the Earth and Mars: X712} SHMTtE T 40l 2l
M AZEX| LU
+ Lack heavy metals: 200f & &%
* Majority of moons in the solar system: 1-2/ & &=
+ Form outside of the solar system: AZ%|X| 42
+ Similar orbit with their planet: 18-191 & &=x

« Differ from their planet chemically: 11-128 & &%

iBT Practice Kl p.110
1

1.B) 2.(C) 3.(B) 4.(D) 5.(B) 6.(B)
7.US

¢ Plane flew into enemy airspace
* More missiles with longer ranges

Answer Key A25




e Took provocative moves before the crisis

USSR
e Missiles incapable of reaching the other nation
before the crisis

e Shot down enemy spy plane

FHt 0JAKY 2/7|(Cuban Missile Crisis)

1962 A2 0|=0IMSFE 900rustoll Eoix|x| ¢b= T4t Aojl 20|

ALS BHXIAIZACE. O[2 H2|0A, DIAIZ2 of 32 F=of v AlZts 7HX|

o, M2tM 7|2XMo 2 0|=2 A80| SZsIHet: ZuE we 4 it 0f
=

=
EN

2l ZX|= &= M ZYS 26| OXIFRCL 022 A0 DjAIYE
¥ s 7D, T4 OIAY 97|12 2T wA YEl7t ojoRiCt 4t
OAY 2171 dHQ| 71 28 AldS 7120 siLgict. J2i2 o593 &

S ATl 71710] 0|27 S T OfL|2t, L=0| MZE HotLt FEls
250 C

H=XIE Haks] BHFQUCE OR2 & P70l CSh 245t gt

— M
i Zoil 0122 0|=2 DIAIUL] & JHapot AFY A2l 250 o]
M 3E0| AHES STtsiCh= AHS L1 AURICH 00| HISHY (Eisenhower)
2of, 0|=2 H7| Lol A SHO2HE 1500tUE ¢t El=

[=} =
R0l DIAIZES HiR|SH |2 AFICE 0142,

SNl A0 0/ (1SS 32
3 4 9 5200 S OlARL0| YR THR0M, MBSl RHS SERi X
Of2t= 20| HUC DI 1200] ABS YBAIZ Holzs 22 2T ¢

o
AL, OIS = ANE AT MAITLE FHI0| 2] OJAFY HHX| H] W 5H
wet, Bl7(2] DJAIES2 4 DALY 2{7[7t 2est|
1 280| 7Hssizitt= 20| Ss{TS =M, 2fAlote| 2k}
[| =

%‘EQI HTES 700l thah ZAtHel siEds
I (Khrushev) 2 AUIC| (Kennedy) = 159| ZHE % dlot=
CZIEL 24712 138w Zoil, 0f2] ZAKE A MIAIS sTol| At 7HE
TIM0I7ER] &1 ZAQACE. 2{Aote] BF AtZEo| it M-'_-’Oil)K‘I U-2 327|12
AFAZD, 0|0 E CH2 U-27|7t Z2E Ol 43 EZ0 2 ot

UYZL MZO| HMES T 0|AQ| ZAK HSOZ 0|T= WO SHARNC
g ACi= 2 710 ZE MTE QAst= AARO| ZAS HHMC 4
2 30Nl HigS &1 2, J= "RS 0fsll Rdts =301 & U270l
ks YS ot
&y Words

Oupset OX[Es|ct HXEA 2HSCt Oremove ZEaoliCh, HMAsHC
O standoff m=at AEef DOillustrate 2¥a| H{FCt

O presidency 53 7] O declassified 7|2 xS
O veer O|Efaict, ¥aHS bhpct O airspace ¥&

o0 6”’2 X

1. 5 Hnf 230 =M “the US would basically have no warning

if the Soviets attacked them”0|2t11 §iCt. 0|Zd0] “a surprise
attack” S 2|0 olaHaHoF Sict.

T L2t 2] Foll FES 01T o] A2 o B0 dgE A0l F

HEOll OJAIL S AX[3H AfAo|CY,

=M ZHoll, Ao FHf OJAIY EX|7}F 0|=0] E{7|0f 0jArdS HX[E
Z0fl tht CHS0IAS 7H58E FMIAISIL UL (B)= 02+ BirhEl=

121 £9| “It was obvious that this would upset the balance
of power, as the USSR had no missiles capable of hitting the
continental United States at the time.” 2| 2&0{|A 0]=229] £7|9]
DAt B X[of CHSt Ao Q&0 Lit UEL “capable of hitting the
continental United States at the time”0| “within range of the
US" et 22 2jojat= S olahaHoF Stet.

71 ShxlE 2AM7F E2iH HH2 = / El7]2] DJAIYO| FHE| OJAIY 247
St 79 st Hofl HiRI=IUn / 2{Aote] T4t DAY HX|= 7{2] 0]
Z0fl ciSt thS0IQich= g YaiFa ULt

“suggested” 7t “adding to the sense” 2t Z2 2lnjo|ct. Eoil 7t
2 20l= (A)= FHt9| 0jAIYo] 0l=2] Ef7| OJAIY Ax|of| thEt tHE0|
ACHD A7 HAHFAUCHT 3=0, Ol Mol 2047 Lio] otz

=
=
SAS HT FE 4 9l APOJ7| H20] 2ol B 4 g,

‘interpret’ 0l “translate” 9 £ UX|Tt 2o HZF0f
“interpreted” 2| LIBE “F LI27t N2O| HES DA
2 EUTHviewed)" I s{A5H= 20| EFSICE

* Intended to launch a surprise attack: H&5tx| 42 LfE0|ct.
E20|M 0T LIZt= “surprise attack”S 2|=5t1 O|AUS Mx|st

0|2t = ESHX| kTt

Plane flew into enemy airspace: 20-21Wf & &=

Leaders wanted a military solution to the crisis: 220 %X|
2= LIE0IC ZAM T3S st H AME M S0IX| X|=XHS0|
OFLIACH (187 & &Hx)

More missiles with longer ranges: 10-111 & &=, “it led the

Soviets in both total numbers of missiles and missile range”

7} “it had more missiles with longer ranges” 2} Z+2 Z0|LC}.

Missiles incapable of reaching the other nation before the

crisis: 12-13W & &=

Shot down enemy spy plane: 20-21%f & &%

Took provocative moves before the crisis: 12-150 & &=,
provocatives "ML 8%%. Edske"el S0|H XS OIAKY £1712
Eapdo| E L2 0 UCEH T OJARY ofFofl O|=30] Ef7|of HX

==
OJAIY HRIE off A8S XSF3UCHE WS Olslshor BiCt.

mlo r
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iBT Practice p.00
1

1.B) 2.(0)

7. Normans

3.0) 4.(C) 5.(B)

e \Warrior society
e Language a mixture of other languages
¢ Rulers of England after 1066

Anglo-Saxons

¢ Primarily concerned with stopping Viking
invasions

¢ Descended from Germanic tribes
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20RO 2R WI2-ME go|H Tl OlIE-?—E(Edward the

20| = =Xt AIREAC, =2PHE2 0]

f, Rl 1M7E G=ol g9l ASEE TN

Ch O3 MES0| 1 2ol UUCH BI2-ME AZ0|UH HE= 1=

%é(HaroId Godwinson) 9Al, xt7|9] &9 AsE =
A2 FG=oZ ME0E, 102 140l LTl sHAY

Hastings)0lAl TE2 I 2|30 WS 2-MAZO o|-o| Rzt

Xtofl 25l X|HHE 2= 20| S LA BK(L, 2E BS2-ME HZS
[e]

In
~
Ton
Hu
=)
N
|_
]
min
1o

7.

X7 Words
0O stem from ~ZFE FZICH ~0i|Af H7ALITH
O blend 2§&lct O descend Liz<ct

O holding ARX|, KRt O heir EAXt

Othrone &9 ASH Oindeed B,
O gradually Ao, M5

O nobility #=

O prosper HESICH

oo -aHAéI X

=20t F2roz Ha Eap/t MEA HFK 25 0127 & Hol2
2, 2o g2 23l= =200| =2 XIS e AR Aotk
aliMdct= 20| SHt=0

A 2ot otx|2t 220 “Over time, these two cultures blended
together to form

and language.” 2t §t 22 SIEZ ©E 2 & lCt. 5t o] 2%

what we know as the modern English culture

2 x| 22 S 2Y0171= it

M —
X9 350| ZHAZEEH (land) 2 il%* £ A7 2o
1066E7tK = 2 7137t QiACH 1 5t 0|0fX|= 2X2| oM o] &
t

2
N
08
Hm
)
g
=
rulru .
E =l
ook
fjo
oA
12
g
1>
39
[l

117 £ 0l3t2| “because they could not very well take land
from the French, who were essentially their hosts, for fear of
angering them” oM L20tE0| FEZ SEISt 4 QIH 0[R2 MY
aff =1 QT

‘this" & 20 HMAE Y22 M&E9| Y2l Edward the

ConfessorZt AKXt g0 Z2 A4S 712|7|H, 0l= L20HE0| W=

2 MAZS HEHE A7t EC,
‘WB2 MAZS ATl HATS0) s KM XS SOSHR| U
o

|5t W2 MEZo| aE HFZ LEUFOR R[5}
£ Q= 20| 79| itk A ot

ey could do about it"0| “they could not
really oppose it" 2t Z+2 2|0|E 7HEICH= A2 olaHsHoF Stct, 2= &
XS0l 2lalf X|HH=IU7| Z20] OfL|2t, HESS BF L2UECZ o
R3H7| 20l BS2 MEZ0| = 20HEO| X[Hjoll MetE 4= AU

AH 20|
B2 (C)2t (D)= ol 2+ glen, (B)= M5 LIE g2 Bu AT

+ Primarily concerned with stopping Viking invasions: 16-17

wEEE

+ Took land from the French through invasion: 229| Li&a} ¢

RIBR B LIZOICE. L20te 2248 S8 %432 MAze| B2 )
[e]

o E
(= =]
oI9H, IYARPEIS YS WaKOT We Ho|ct,

« Warrior society: 9-10Mf & &=

+ Language a mixture of other languages: 7-9% & &%

A27
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* Society based on Roman laws: 25

Z|X| 942 Wigolct. Zote|

g0l HHES = AtRlof 2eliMs 2200 LIRAUX] 2T

+ Rulers of England after 1066: Snf &

ULt

Thofl MetMo = MHE|0f

+ Descended from Germanic tribes: 14W & &%

Vocabulary Review p.116
| |
5 2

1. (C) 2. (B) 3. (A) 4.(C) 5.(C)
6. (B) 7. (A) 8. (D)
9. opposite 10. conquered

11. survive 12. status

13. endurance 14. phase

15. formation 16. gravity

part G ==

Inference

Basic Drills (1) p.122

[ 1.(1) 2.(2) 3.(2 }

1. tlolZe 98 (L2 3004 SO YU 250 Am, Leist of
= 71| 27 ¢l0] 921 shotol it 252 Tksahl det. vlolyse ®
3 2ofoj2lstel ZXE &1 YUloLt, IS0 He HET} thyS i

x| 23| th2of olulal7t #F2ISS solZol &2 LE 4 Uit

2. MRE AT Hehs WAt WY B0 SiLis T BN R4 AR 2
U2 K= Zolct, F7tsks o wET} |H0t BABO SH2 B
so| 7|22 Soict Or—E.'—%*HILf Bie SiTks 28 BOIECH B4 1Y)
22 FAHOIL lASH 22 B2 =Y 2R BRHD ALk 0f St
232 M2 o] M2lst71of BISO| Bol SOIA, B2 BASS Byl
2 Helof i B8 U TiAlol HYIZS 1 o2 ALt el X
of otzaict.

A

0|7

SIANEZ = X2tz LIRE Hof LD, SIHE 7| -?—IoH o o
C 42 A

1. BlolZZ2 159 Bzt WS US 71 4 glof Zojualzks Aarst
X RHUOLY, KB LSS HE 4 UUCH UM KB H2 1= 1
So| Sojal71E H2ER R30I, 5 W2 S 2 WLt Y
Che 22 o 4 9t

2. A Me|of AT HIA 22 SHSTO| LD, O Me7|7} S0
Bi2IZ FB0IN Qi MEE 7|8o| BB0| £ Uehdrtn ooz
0 SN0 2 7[3o| §l0| HS U 4 it

o Ch. mrahk w2 xjets LIRSS olet diefel 4
U UM U2 U 4 Ut BRI} LIRS Wal 9 4 TR ME
© A7 MX| BHETHE 2 LR HIors £20[t,
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| 7ACt2t ZAl SES AO]

°
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fiAolct. Z2iLt
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Ch 2Lt 8l
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Basic Drills (2)

1.(1)F
2.(1)F
A5
X0l 1

ol T ®I S It oo ) E __m_ﬁ
S M P u N 7o) na ol
& @0l M > Y o o~
CIE T U =) a iromo
ol ..w._ul_u <k ...._._wA S o3 -
o< < U o0 a4 5l
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N TSI g o U
om R w0 o N ® J0 7 31 _-
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ﬂ#@%ﬂ e = o = T xo
A O Tl =
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= ol m = Bl Ui o3 3 \AJ e n%
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= T os N N ARl IS = o
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F oo <F B X U K < W g8 o < o o > =<
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3 ol & o 3 U fodo S = o
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T, HEw o Wha i & O
IR & BED g oo m s o o B
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Basic Drills (3)
1.(B)

(1) A
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At2|& A2 7HiES 01F01 [Tt o] JHEo| WEH, 7|YS2 HIS ¢
QTEIR| 7iL HIR0| B SHatE, AfSIE, SaxoR Molzt
U= YrloZ AFHof Sict. 0] =2l= H7|Hez = 1, A50| X

O 0|22 HIZ20| O Mch= Aolch

o S A e
1. X EColA, ti7IYol 0jxl= G&ol =2id o 7HAst Lizt AltS0l o
7|0l CHoll 25 L7ICtn 3, & B STl 1 Fghol 2HZat A
S0I7 = mlailo] dHEof UCt o] F HEE HAsto] S ot
=N}

2. FH 2CE EH f7|o] 242 oty Sfﬂ DE2XSS {0l Mst
ICHthese companies can

A stz Aoz HIES EIrt =of A
).

keep costs dow Union Carbides 1248t 7|9 o2 ¢iZ

E|QACt.
Reading Practice 1 p.126
1. (D) 2. (A)

Words @ witness @ convince @ citizen
O revise

H|ule

1800TH 2, 7|2 % PO 22 MUS SAlet WAlez Hin
ALt 18594, 2| &

E( nt
AER|0} 7| E5| AFMH MEE £
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2 70 DFR| BUE THE TEeh= 2t
of Zlo] HFOIM AL LM +=2 UL
== BHTY| 2lsll 7HK] 2UT ZHE LE0| RIXES
=6 FH5h= dloll S2SHK] Z3MCE A0|AC. % E
oA 02 FLUSA FYRISS tl2iet 24T|= % A
Y 2 FHEE 37t 2 A WEA AL iR g=6l AUCEH 22

2 18644 Z=9| U0t FYS 01Z0 WLt 7I2XMez, O X AUlHE &
Of M2H, M =5 72 SUXSS Y HoR 0ISAIZ = W7 o2 °|

F7FRUoH, E 0 HO|E Ziof REXENA 2z HSE MEY 27t U

do 3
& oF
o 2=

an
r
Im
rr
my
Hl

Ch= Z0IRACh. B0l Multt SEoll 4776=0] MEIHL, T Li2tSollA| A
HiHE EE2 Eol =QUch I = 1007t T L20f thet ZEst e ¢

B A T AU BIZIOISS BESHs FES BES S A Bo| A
B SR0| o ST M2R MACXS, MUl 8430l Haslofof stof 77|
O of B2 HEIS HOfshl, IHS 012 ARSS O € HEE 4 A==
310 2 RS HOZQIC S 1949110] 0|20{(Ct

1949410] HE2 & S71A% 22 S5 520|712 AR #S |
3 AR AL 25, XAl ol BE LiztSo| Hulst BE0 &
Q5% 1 BHS AR HJECH MYS T2 BHSHKI, Kt
BHS 545 12 ZH0| OfE FE S =it

A30 M TOEFL READING

&7 Words

O witness SZ4asict O particularly £3

O convince ~st=E MSsict O regardless of~ ~0f #Ag{0]
O treatment S O citizen Al

O revise JH&siCH msiCt

° {,—H Aél °
1. X0 2RI 725D HE 2 27]0] B3| ML THsH Hat
7|30 QUSICHR Fch. FBOIM LojLts BuSH Ao| MSS F7ALt ot
R B ZH0l0d, S8t 3 SEOIN B BoIS0| F7L T HES
0742 02 S2 QU= 210 HOF, O[3 £7|S0| FAoA AIe} A
MR 42 S0/ HES S HOIHE S F2E 4 UL

2. 19-20M S0 W2 K| 2xt MIAIHEO| Mt BHO| HYE TRNS
BO{ZQICHD #rh. o= MUlHl HES O &2 QA ST 02 of7l A
2SS of # B3| 57| Y8t Holatn ooz, MR MAN S
ot 0|2 0f7! AIZE0| AT, Ho| RHUX| 242 70 | 2010|942 Y
2 z25f 2 4 Ut
Reading Practice 2 p.128

Werds @ debate @ civilization @ unsuitable
@ downfall

o

=

0

[ru

gvl_l
pal
un
N
=)
rir
52

Zz9| 20| A, OIC|M Y X0l tHaiM, 2
X C|

201l Cigt uOI Aol 285 oEH g

2 =80l ok 2% 2 F ot=
Lfoll Zaf 7| W20|Ch 2iof, 22| Erb3| HIEt 25t MU T1EI A}
SO M2 S LS, 2T MAI of2 RoIM £ & HRE ZX
o ict. eref, 2EO| | Aot TAQ AMS = o A1 ST AE2
HolErte, Sirfel /2t (Iraq) XIH0 SIXIFHE SH2 (Sumerian) 2%
of {0]ct $H2QISS U7t of 220 YRI5t &t

H

—

o
E]
ﬂ
Bl
1o
Ao

o 08
k=)

Q 32

> mo o
).\.l

3to| AES 0IILt. 7
SO= LHARIC.

E

e 2l 2H10|= (Ubaid) 23t
40003, 0| =2USL E|72|A (Tigris) 2 7

0 G2 Z+E0| Hoj, sol= XMESIK| RJUCH d2iM, 2R2 H|0f
ANeEZ £HERIS2 €2 S UL, TE UESne| FHo| 79
UUCH +H2RIS0] 0] HOLE Goil YSH2Z SAE XIg 4 WAl e A
2, 4o|Lt S+2RE 52z W 22 AES Sdll 5dXIZ 22 U= 7|
201, 2N () ofl ThSH XA S20IQ{ch 01A2 vl BE0l= E7ata &
HEZQIS0] 047|0] SSH22 SAE XIg & U et 252 AHoi7t &Y
Syt e ELSE AMAA 7| t2ol, 2= +HEQUS0| ks
thohA H2 OlsHE st UUCHE XS & 4 Tt IS2 TLE Y 7l
I EXIS 1 24U OE UEQ Bz s, £H=2| 2141= S0iLt B[O
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FE HME HA LI 352 022 22 TAI=7IE AX|A =R
7 252 of =xE Exlel AlS| AAE 7] ARttt 22| 915 2ge
B2 7= 7452 A|29IS0| SRolct BHES A7 2 AoE, 1
=2 59| Y 0|F0l|= T2 2HE0| QshA AlS ABE, SXiets A
H22 Yoy
&y Words

Odebate =% EZ Ocivilization &%

O define Holstct O canal 23t
O unsuitable X&6Hx| 42 O downfall 2
Orelated to~ ~0f SH2tEl

O be descended from~ ~2| AS0|Ct

o0 EH/\Q X

1. XS 2HO| Lt ufef ZA00 tishM M2 =Ho| ATt SIHA, 0|
2 202tz L2 08 Fosk= X0l &2 Utk #esg ofx 'Z
'olzt= 2o Hovt &tals| HalXIX| Loichs W FEY £ UCE £
el 289 ol & =M ool siMztol 0= ZFHo| X 2ol
SR, ij2E9 SiXS0] 2YA L0t 8 (A)s 2K 2ok EARH Y
22 B¥e= Zo0iH 02 20| M 20|22 (B): S8 HolH
7187 40002 g0l SFS0| 0|FE A, SAkE 1 OIMRE X|ojH
2 AYez (D) Eat 2| it

2. T 2ol M2 olFs 2 Ela2|A 2 70| ZE0] Mo SAt
Off ZIgfsiX| At 22l 22 20i2 SHCE SAXIS 4 AT 3
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S i 201 o 22
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Reading Practice 3 p.130

Werds @ acquire @ consequence @ treasure
O heritage

fuiat, & M7| St +9| L}a}—o| ct

g 27182 15 Hi=s RAlske 2Rt 2 MH XS 71N
2fat 15MI7101 AIZIBHA HMI2KE MIA| THEO 0127 |7HK|= M7 Lol ARIX]
£ 23Ut Lt a2 MA Xt HeiM, REJIS2 a5 AlTXL

TS E3t wotoiT. RELISS Ho

3}
t217t, ok=2|7t, 32| AlA|2| 11 8ol
XM EZ oleESS 2 7IS5| 20 X719 L2tg 2RCH 2R
HEES2 71 +T7IEQl 0 HAKKIL, HREE2 7E2 ol &8

El= MX|7h EIIC. HilH (Benin) A& Z29] ZR7} Bf Mol ook

HO

HIH2 S5t ol BES 71 ofZ2(7te| F=0IICh 1800EM, 1
Ligt Al g= MTXZ THEE F=2| 20| AN 2= =2 1897
H B2 HYS YoM g S &2 2, FRUS2 HIHQ I ¢
et 23R ,OOO7HE He IS YAHSS 2l dEH ol Hid
o 0] 225 & &4 2007t = thY WEdez 2

gt 4= UACE J2iLt LO[X2|0RIS2 OAS0| AR ST o
J HE0Al= Havt eltks A2 0IRE, BE TATS =Sy WIS Hf
2t UCH HH YS HAEe| 2= O 42 & ofLi #olch MAl XX
ollAf, S ARIXISEE2 259 E3ME =IE2E WS 2ot ACt
=7 Words
O acquire &5ttt [ consequence Zt
Otreasure & O boatload tHel st
Owind up &g %ct O heritage (CHOHZ Li2{QE) {A
O plaque Hxf, AAlE 0O call for 273tct
O former 02
co 5l A e
1. A 2Ho| M2H, |8 F7t50| CIE LIZIEERE B2 t&E52 7t
Mzem o= o Z7I50| MMAMLZE ARIXIE 7HAE AlCHe] Zut2t
I FCh 33| o] o2 0|FEE SRICEE, 0|ZE 5 93 279
ARIX|¥OH, O |8 =717t O|HENM B2 daE52 7S WY
290t
2. 8-12mf &2 AHOEH 15M7 S E X 2Xt MACHH W7EK] X|SE AL
X|HHE SaliM, R8 =71S0] ARIX|ZRE B2 HA XL eSS
JERICtD e B2 (D)7 W F20IC}, (A)s 017of ARl X|HHE &t
H 27HS0| FAGHE LIEY #ol0, (B)2] Benin L] off Y &0|ct.
OEES2 HHY0| ofLzt ARl XS Silf SRS BZ (C) E5t 2

iBT Practice Kl p.132
1

1. (C) 2.(B) 3. (D) 4. (B) 5.(C)
6. (A 7.(B), (C), (B)

Answer Key A31



mhe EENEE TS

USRS Brie) B3HE TS YSKISOIC). 0/ 2atS0 cif
A P27t 2m ol e HES IS0 AUH 22 KA HiZoRM U
SCh o SO, S kel Y EE MU EAl RXXIS ZAG
£ 4 ULk TUSAH MAE) ZHAYA QKIS W JBA 10t 2
Sl o =T 22 XSS, A A7I0IA AL U ARISO chs
S 7SS YRCL TUSXIS0| 1 KBS YASIE) 0] 1Y ofn
598 MY FaiLiz. 0l2M 1 R80| 431 U Bajo| wNg AN 4
Q7N $H7E7] W20, oIt 2 XIS LohLhs Holck,

kI
k=l
o
>
Elfﬁ

2 50| ¢ast £

20| LS Yotf7| Sl SMH (B
7%. layering, stratigraphy) & 0I|E$iCt. 0] OI ol g2 fo0l 192 H

ol & £ Qli= AIZH| XI%7] R0, o Z2 YoM LHELE O RS
2 o Q2fE ZXoIct. 0|/ TuSRtE0A| HILE Qlsh 712401 HEE |
S6itt TTSIXIER Wl 71HA, RESS 7[2M2=2 § 50| K2 5 ¢
of &0d Q= A FEE = REES YAt 12 1usixiE2 EXS
S0IM LHE REE2 22 712 Ahof S5k AUCtn 4 ot J2iLt
SN 2xF 7t stits, 1 WHE ofE RS0| Z2 AN YA
E 02 RES0 Hish o =UEX], 2 QAR e YiEChs A
olct 42 E45t RE0] 5| Lottt QE=U=Xl= LFX| Z6tict
27| 20, DOSIKEE WAMYEAANEEY (radiocarbon
dating, C14 dating)2 AtZalof Sttt Efas QFEAQI BiA 129 20HY
ofH AAZ HHY == EtA142 | T 339 7|2 Yel= ERHSiCt 0] Hsk=
UNS K2 IHEC RE YES F S0l 22 vl BtA129 EtA 145

TS
|0
Hu
m

ZER|Z QICH a2t EA =lH, EtA14E =
1, EtA147F RAZ HEHA Eof 2t 2
oA L2 Lt AEo| MME £0| BA14

)

1o
H'|
£l

M5 BHHA Eoh RHX

Io
02
1o
le

HatozM, L2l

25| ONS0| LotLt 22 ==X & 4 -

L

¥ Words

O archeologist 118k} Oinvestigate ZAtsict

Olayering A O determine YOILHCE, $sICt

O stack o|ct O steady YHst, pEst
O radiocarbon dating HAMNEA S X

Oeventually 2=

oo z';H}\éi °0

2. 6-7M & “pecause this allows them to track the development
of the culture the object belonged to"0lA 1 0|R7} HESH
Zl&E[0f QICh “the development of the culture”7} “how the

civilization progressed” 2t 22 2|0|2S 0[5H5H0F St

3. 9m & 0J3tel “the deeper underground an object is found,

the older it is, because more time has passed to allow dirt to
build up over it"2| LI ME2H, Z2 RN F2 AULE EE O
QefjE Jolztn ooz o HoilM Lt 2ol O LAEUSS A+
At

4. Zr9 ctof7t Q= 2R0IM, 1S50| WS = 1f HE “one on top of
=]

another”0fl #0f BHE0{ZI Z0IAM EXSS LAFCID At & &
A

CHE $F 50| &0l= Z0|22, 0]0] “layers(5)"E 71217l AYUS
& 4 Ut

5. LI0|E &H™&te T 7tX|Q) &, = layer datingt radiocarbon
dating 0IM carbon-14£ radiocarbon datingOlAQ] E4Hol @
A0|X| layer dating®| Z4 247} OfLCt, “convert into”& “turn
into” 2t 22 2|Ojo|ct.
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Al Yotok st= 7+ 28 A SiLks 2501 3= 2H|2] Liololct”
2 MNZSiH EX] LolE ZFsh= A0l o SR8t Xiet F 71X12] Lto]
£ WS dAlsle R%=S Z2tof 3tk 1222 (B), (C). (B)7t
SHI2 2t22 UEH, (A), (D). (F)= 25 222 W82k %X| 274
ANBE[X| 2 LHEO|Ct

iBT Practice p.135
1

1. (A) 2.(C) 3. (A 4. (B) 5. (D)
6. (B) 7.(B), (C), (B)

HAZ
Ed5| S22 E0l5k= A0| OfgX|2tE, tHRE AZS2 ZOM|L
M7l nol7t HFoh= X0l S2UE RoIch 2Lt ef M7l 2Y0[Lt ZOtX|
7t AU SE0E R AE2 ottt 43S 51717t olgiE WO
Ch. JEX|2, 227t 0]8 SE52 HYCty of7|= di= S=tet 15 0|7
7t 20| ERT). HHZ2 2X ol 0] SES0| HEH ASsH=710]

siME 48 49l 77t Tt HH, B = AAZRS EESHI EoL
SEE2 URE ZRFO0ICH 0 SOIM H2 et & 20| B5S 2R
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£2 4xl0f 22 35 of 7ol

012 M7l S=0 Ct

P
M7IE0 et S252 HHESERE

2 S 4 AT

E &9l 0of0| S=0l7 UYL= BHTS BE FR7H Bl Uk 7HY E2|
LT 2= Z2 M| TY0IE Hltt 7|12 Heid g mEate] Z0|o
AZE SO0IME, O9t 22 80| 7S Hivt lot. Q7tE2 Edxez
02 S==< dlgich 7|20 24Tt o0, H2l8 a7l m2H, oE
S=52 HEOL 6AXlE M7IS0IAl o SYXCR HasiH, & HMS
B 7tsdE =0 &, HoIE2 Hedl Zalivt otz 2R f2l BEIt
1 = 2SHL E3o|ct

Ofactor ¢! O evolve ZIstsict

[

O be associated with ¢0| = O response ks

O playfulness &t7| 2s O instinctive 28%2!

Oreaction S Oroutinely Yoz

o0 GH/\S oo

1. 58 £ 0[5t2] “Cuteness apparently depends on a few
factors... This is again another characteristic of babies.” LI
of W2, HHB0[2H AM0|=Q} dEat 2 =0 UCtD FiCt 1t

Mo s =2 ST 7| ZSolch

=

I
Hr

s

2. 10-11M £9| “This makes sure that they are cared for by their

parents.” OllAf 2 & QlC}H

3. 2uN| 2Eto| R0l 2D, F0S2 HATS W| 95 F25 240
O, AAZ S 50| gl S2S0| (122 ZRE WIS 0jS0]
FACHD 05 SOf M3t HELo= 20I5h| 42 (C) ARIS0|
oie S22 20| Haiet 7I20Hs 2Fe Qlot 0%S0l 2 oS
SQIX|0f cHahA LR ito o ol P 4 ic

4. 0| 2EOIM MBS U= LB 25 Hol2 MISOIA tsts CHE
S2s0| #S0ict 2222, 0] Hoft ~of i3 S 5, we'S o
03 A 2 4 Uct

5. XIZ0f Z0{71 THA7} Glo02, 17| 5 20| helsl EUS 1f 7t X
28t £I0I2 T2EE Birt

<
™
Ho
)]
ro

CHS Ul 7Hel olof T2 O|R0{A ot “AlCHt Alzlst
HOiZECH/ 0252 B0 SHoR YSsH /o B B
= A2/ HFCta MzZtsl= AM7IEA” (B)2to] 2E olof H

|OH,

jo rfl Bl
T i
5 S

10
1o
=
o
mo T
2
for
ol
=
o
=
O

“react positively” 2t “respond

il
b3

7. “HEIXS2 OfX HHS0| Atded TISHH Tetolatn YA =Qict” of

off OloiXl= QUE2, FHoS0lZr X2 Falet HHZ0| 7HMCFEE &

O HAI=|ofof BiTt. w2tAf (B), (C), (E)7t
(

D)= n™eprt A&7 AHx|gt

H, (Fl= YF=X| 22 W&ol

Vocabulary Review p.138
I I
(4. o  2.(A 3 4B 50D ]
6. (A) 7.(C) 8.(B)
9. witnessed 10. Heritage
11. represent 12. exposed
13. citizens 14. unsuitable
15. debates 16. defines
L )
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Part G ==

Rhetorical Purpose

Basic Drills (1) p.142
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1. MEEMZE MAMcz dor|n Q= dnt 2HF el 4otk

=0l

2. HIE YL2M OA2l=E ALt olYsts A, & YHS MAISIH xR0
Fdstz ojris st Ut

3. VIS HiR= HIEFES HE AZE BRI WSS Ligst Qi

Basic Drills (2) p-143

[ 1. (C) 2.(B) ]

1. A AE2 19472 St RZE Li2toll A Lofitct, MHSHFH

o
N
>

2.

1.

2,

x| 2 geh2 20| 22Aet TEARte| #AIS WAzl Ao|ct. o™
7

7| BERSS H2 AH0N YD DERIH= HOIKO! TS U
9Ch T2t Lol Ho| Hl= 2RIV} U= BN ARFVE 22
EEIE £ 4 9tk Ak, 22XSL 2% 717S 28
312 EI%7| Bh20l, 152 OfM Aol 428 22xISEClE #A I

A 4 ULt 0] £ 7Hx| 2152 g2 AEAISO| £US AstEl=E

0IEct.

MeIE0ilE SHEHA (top-down)Zt A8l (bottom-up) 22 g2l F
7ER19] 712801 QAL A HiHo| EXHSICE. skl QA AF-oME, 2
H2 ot Al X|ZXLE ATPE AMER 0|20{ZIC} o] Z¥E2 1
€ DT M2t} sl WO R PHSORICH AR oA AFo M=, FA|
Fcto| 2Hofl chel E23t, S0l 0|23 Z<0l2H QAL ZHo| LY

ol

BIZIC S1aAl oAb 2R WaT FBH0lats FFO| ot 01%e 2
£ AS0| FHst ZHS U] YN BRE HEE 2K 28 42 Y
£ 2 72 ot ZHo| ECh. SHA ol ZHel R ZH2, Aast
37K 1 20| BEsHR] R Zol2ts Folch, Hgte] BE 749
S| SOIE HIZOE BH= AFAI oA ZBUAE, 1 22 BRES ¢
X2t MEACR St ZHS B P20l TE| ZHS =54 LIt

!

| 2 22 ZE Ziolct

19M17| Mg SZoz QIe Helz URS0| B st 2E0M st

A =ACH= LHEOIT

N2l o)A 2 WS MAR 2, O =S UASIH 22 Tlste .

[ 1.(C) 2.(B) 3.(B) 4. (B) }

1. AHQIAIZIS0| M Holmal7lol ASHS of, ofol2|7}t |0l B
2 052 Zoich aaiLt ARl ARRIS0| 1S5S 0|2 PEALL 8
2 £ 7H= oot 2HA0] QICH= S U7 Xt YFDISS 2 M
7| ARIRHCH ATOl AIZSS o o Hofl 203w, ofnfl2|7} el A
AS 4= 2:0t0[QiCt JaiLt, ofnf2|7t YFRISO| £2 = 27|= Al
Q10| ZIR0i|= OfF £ =7t Y| TE0l AT AFS0l7| 2242 Ofx|
olzlofo|S T MRE 7 ZtTh

2.

ol

r Lrar 01727} L1=' wa| 5
Jte HL. 1 Liate AlRISS Zopy| 93 S28 o] AlRe
x| 2601 2 4% Uck. ofmalzt, ofAlot, 12lm Holujalzte) He 2
OIA OIS Alzi3t 2RCh OIE Sof, AlLKs 4%2] 017 £7182 1Al
T QIch ol ALE 917 of 17:30KCt S B2 S7tstcHs Zolct,

HAQ! AOFZ 7| YoM, 1 £7I82 0|2 EAl) &2 ©Xt YA

o
Ei(Washington) D.C.. 48t 20| 917 2tm Qlct. Bref YA

ol
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D.C.7} 4%2] 2151 B7tES 0, 1 7t 20201 H0]= 892t &,
20400fl= 16t Ho| E 2 P
=2 Z20l= EA7HE A0l 2T US, ALkt 22 THAE L2

A o
MOz 2l 42 ZHESES Jdstuls +i= Aol
Ot AFSIRIE2 05 WSO Off A22E MZIS HatA7|E, X2 4

Of MS0l QfshM AL ZFECtn Y=ttt 38 OIE(Great Man
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SI3t 0197 LR 7HY Q3T SHSHN, YSS A22E Nofzt
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Y2 Mo| YO7I 0J2tm BOE XIX MHREE HASS BEs FE
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YAIQUSHED} OfLizt BRE BRORREC: AN RS Trf
YS0| H2AZ YUE U BALY, T EE T2 RIS At RUE of
g waizEC}

o3l A e
YFBISO| 47} BN YUZ0|= BT, IS A 47| R7I2 A
Tl 20t Rl 017 %2 BIKSHCHE 1S YZ3H| Y3, 012 of2!
0f0IS T} MSE 2Tt 2Tt BIRYCH
ALtel 21157188 YAE D.C.2 AR40l LYo, 0] 21757}
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Reading Practice 1 p.146

Weords @ defense @ nutrients @ lessen

O quality
HIH

Hitl= 2 X7 SS2M Sotu27tet 78 tEE2| sHMof ATt
ti= 50| Btes= HolLt, O HE Dte=0 ABE LIRE 20t olxzel=
SO g YA Ut H|H Yol F=X2 9ojo|H, Hat 11 2lof Y
= X2 Z0ILt SO 22 ZA] S20] HiHol| H2e 4 Q=S ESelf &0t
HE OHET| flall vIHE ot LFo| Lt | teZ HoiE 4 UAEE
Z{0L golERLE, O3 LIRS2 7[2XHCZ SHM s MB0| YoL=S
o2 |42 SELL AlZI0| S2HAM, 22 JIX|, YA CHE AS0| 4
0f otMo R4E R =&EL. J12{H Hile 2 LURIIXISE 0I8a B2 &
dot, 287 g2 fHgEct

HIH S 3TN k= 20 X0 2 Jek2 7IRIch AHWZ 7t
& 28, HlH B2 @ 4TSI R&S &L 01X o2 528 Y
£ SiCh AW, 2 S2= oI ol Lt K5 £0{ 7t=dl, Ol= &
AISS0| 22 oh= 528 St FURS W0l 7k= AolCh. 51de] R4S
SECEM, = 0|2 &S £0 Ot AL} olMel L&l K42 51H0|
e SE ARA= 22 olFs {0 S01 U= [0l HIHQR Jiatets 4 9
EE off FC 0l MEEL SES0| Ol RS SHAIZICH HH #HE
Sl FR0IM U= AE BRE HEIAIZICH HIHS0| S CHE7| 2ol
A LIRE tilof glol7] m=oll, 2 2 SFahX|, B=E0|Lt Z0] Xz 4=
= 92 372 Heloh J2{82 HH ™SS w0l O U2 ER AMES O
aff Z=Ct

& Words

Orodent &% 52 O defense o]

Oensure 45| st O predator ZA| S&, AEXt

O dig away AlZshA o L7k Onutrient YY2

Olessen 0|t Oquality &

ALt B7IS 22
S{=x| Of2| 402 1 RS JeiE 4 U & Eot

2. b7} BISE ©0| B2 PlOIA EYS WEAIZICH SHRIA, AUNE 7}
& Z25p, HlH Y2 ¥ 4% 51H0 948 SECF T Yot 1241 U
A 0|2 I3 A7| H4x0l FNSS LiEgon2, of 2| HlH
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Reading Practice 3
Worés
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p-148
™ AN,

2.(B)
@ moral @ concept @ justice

@ do good

1. (D)

Reading Practice 2
WDPAS

@ surrender @ captivity
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O concept i

od
Kr
or

=

Omoral =

a4

[

[

fofl SxIck

I
(el

fCt 2Lt LSl 24
HAT A RAct

O identify with~ ~2t SYAlGICH

Oto one’s surprise &A=

O captor =Xt
O put on trial i

14
)

n ¢

HeE SHOIX| 2

O surrender &Satct

O phenomeno

O captivity Z2(2
Oransom =&t

O convict RZIE &Sstct

&7 Words

A Eo2M 1149
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B

o

C|

O properly M%
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O do good 0[2/0] =/ct

Holl= A

{

=

[

il

ot

==
=]

271 7] mh2olct, watA, Socratic methodZt 2,500E0[2H= 224
7

O experimentation

O justice M2
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oM AREE 20| 22 AIRS0| 71X SSE de . O 4ol
71 21712 Lrls QEE0IH, @ 30| 250 FEY Aol2ks Y20
SE}D. Q2 AlZHSUA T AUCkE FE MARIC=Z, 235/2{ 0] F
S0| AZEE ST MUK RECH= S AJlst ULk

2. OHX9 HEOIM AZEE S220| 2 HHOM DS HS5H|
oAl 204 RThE A2 HUESII| 2lah, Patty Hearste] Z4LE 02 &

et

iBT Practice Kl p.152
1

1. (A) 2.(B) 3.(B) 4.(C) 5. (A)
6. (C) 7.(B), (D), (E)

OlEt7tOH Atacama) A2t

RITA0IM 712 B0 XIS H2 (Peru)2 Z2( (Chile) o] AfsHoIS
ufet Sixlat ofetto wom. OfEfTtot ALt XAl Af2t B st
0l 2 7lEsoz of2 =

r

M. W, J2\1 S0 F2E 8RS PF WAL AT I J2iL ofet
fololl= 023t SBE GiCt. A, TSIRISS WHRIS 27| I8 2ol &
ZARSIE Of ARBE 2T S22 HHIS OfEbtot Al HoIN MBHIS &
Ay

o

7| flsil AFB32n, O 2ok 2dol A9t HIRC. OlEt7ior & Ea

Y
-

1o

20| 3 Z2|0jEj0|1, 72 40 Seto|Lt HI7F 2X| o= FRE At
= A QITHH, 0|22 TS s2h2 L0| ofLCt,

OlEPIOk= 712X 2 sliot(coastal) AIZIOICE. sHier Al2h2 Ofz 2|7tk
=S ofm2(7te] Maitol M LZAEIC). sieh AfRf2 siieh = Bt uhZof &
MBITE 0] BRI} 7 IS Alelch. thr19] g4 32 7122 7I5017| mzo,
0|21 37 /IS XILt= HEE2 Ui AZSHEICH. 2L, iR siet Arfoll=
F A5 0l F=9| Hi= LHRICH HIE 0j< HDHE X017|= SHX|eh Z2|ZL
OF MaH2tel a2t Atoil=, OtEL7tate| SOHHEHS 2| HI7f Li2ICE

OfEt7 IOt At2tS CHE SO AFHEC B Hat2A| 2Es 01fE 240
L5t H 5 (rain shadow) AF2{0]7| mi20|Ct. H 25 Ajaf2 Hajet 2
9] oA (Andes) Mt Z2 =2 Mol ool M g 4 Qo HITE2 2
& 2,00001M 10,000 TIE &30l YYEIC). 0|20t =2 ME2 HIFEO
BItHZ o= 0|Sshs AS 27 2ot FAI 0|X2 th7| 229t 2 #H0| QiTt
S 8l 2 MZo[2tH £ 20| 2845 o FHTUC=E A2 Y US
O[Tt O Al tH7|E 25t BhECE O Zob Hl= B2 RE] OfE

IUIHJ
= 8

7otz S07HK| 25 E@E.

S 94T, QA A2 S%o| &3t

|[Goz2EEH HI7I 2= A

&y Words

Ocurrent sh& O mountain range At

oo -EHAél X

1. OIELZtOF AtRfol MIAIOIA 7He AZRSE AfRfo|2ta SHX], et Aol £
40| 2HCHT SiXl= ATt 5 S ol T2 R st Ajt

Olli= SfZte| H|7t LIt =[0f AT

3. 37t eEs ZEE 4 U= 50| 7129 7|S0l2ks €2, 20| 7

=
=20 2l ZEED2 7|20t ZHHQI #HH0| 2SS UEH=E Xo|ct,

ikl

5. ES 782 2.0000iA 10.000 ZE Atojofl F-e=|x1, 4t0] O] Lt =0t
TEE YUeH H|Os Alf0| 47I=, HiZ otd|A el Z=2fofAf of

IS AIUS0| L7i=/S2 oA AHelo] 10,000 LIE 0|4eZ =2

6. OFx|2t 2391 “The cold water currents block rain from coming
in off the Pacific Ocean to the west, and the Andes Mountains

block any rain coming from the wetter regions to the east.” o

M2, ofEt7 o Al2tS Ydsh= &+ 7H Q2! shet AFHEP (mE=PNEY
9| &= E40| &AM 0] Al2to| CHE offH AfUECIE Of 4RSI As
oF A ol|:|.

=T M

7. FOIT 2920 H 2E2 T3t 2ot “OlEFiokE XIF0lIM J1E HE
L=

Ef7[OF Afetel Axgtmt I = #els 4Est
I & el (D)2k

0|ZEQ| @#1a|A3(Obelisk)

oo O)YEE m0|ER RYSHX|T, O|YERSO| ALEt IS
Ol= matolERt A= 0| ofLICt, O|HERAS2 QEZAIE HEU

rm rlo

Ct. YAl (Washington) D.C.0fl xSt YAIE 7]EH| (Washington
Monument) 8 AZIS 2 0| Qi ARZH0|2tH, o|o| 2E2[AT 9| HEfet
o[o] 25t Zio[ct, 0 Hrhstn SWst 7|EHIE2 © ol 28! Hohst ¢
ZS g2 HE2 25 M It O|TEQS @¥a|ATE ZUMQI AEZR, AL

20| Q0] Dfol WEB2M NFCH QualAZol Trfyls 1 Kol &
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1 Qlotn UUE o|HE el MOl 2k(Ra) & LIEIZ| 25 92 &3 &
= Y] S HLUES =0 AUCE
QHZ|AT AH2 0 o2 HYH0|UCH, 2¥2[AST F0l= XL
2100 D& =, siLtel 25 et UEoiAch 21 %, 0| 22 20| 2
EHE ROIMRE ofH ZR0l= 4 OfUY Hoix QUE AFECZ olSHACH
Chg H7E 2¥a|la3 Yl 7iel 2E Holl 7|25 M7 = R0IUCt o
Ma2 Qez|AT9| o&X, 28P4 71X UEIICH ez, 1 ME=E
Y2t QUR|ATO| AES XA m2to) et Fefolct. XS

of %
Hdoxlel 0| &al, SLhoflMel M&, 12|m 19| o2 X
Jgjgz, @He|AZER 1rf o|TE heiA 227t L1 Q)
£ Yolli= E28 IAH 7|22 STt AHZol ZL1EH, 01
A7t 4 E0|Lt LiIZHs ATt 22 S0IM M0t JCt AFSIRLE
= O50| 0|72 oBA =Xl Sdoie 2E2XTH IH2 B3
£ 2PoIQtS Aolct,
SITIR|= ot M Qs 2771 QUB|IAT B L2 £E 0[H2(0tf $IX|
i QICH AR, O|Ef2|ololls OIRERCIE O M2 2#B|ATT} Qlct A
2 20RIS0| 0|HEE TS S ¢ HB|AIES T2 | HE
olch ZORIS2 RQHIAIE 7|10 FYS HAlGH| st AE3HCt 2
222, E2M2(coliseum)0l2tn £ 20t9| ZA7|% & £0M 0|FE
o] QURIAFE Fg 4 QlCt 18M17/0ll= LIZIS (Napoleon) & 01FES)
Olad, 25X 222 S ULl 7tM, ZZAME P He| 2Ea|AF I
Ch 8% 2EE 0|FER SaiFals 80| YolLtue UXIE 239 2

7|2 ol Chavt 4R AN A,

fujn
mjo
e}
o
A
n

rir
&2

Y

;
B Ao qin

Im

ro
w orjo mn rlo
K o T1lo

ot

on

w2 0y

FO

&y Words

Omonument 7|€2 O carve M7|ct, Z=Z5iCt

O pharaoh miz2te O conquer Mdstch, MEatct
O midpoint 3%, S4F O coliseum Z2AM=

O loot SEHSICE

) BH/\éi X

1. Q42|A3 RYS Of & HEsV| 2fch, X7 A o+ UA=E 1
o} H|251A| Ai71 "SJAlEl 7|EH|(Washington Monument)' | 0E &

P

2. 2#z|AZI} Trl O|HERISH O 52 7IS2E MU=X| 2

= ZHlolct. 5m = 0[5t “The Egyptian obelisks were religious
objects, and were placed at the entrance of temples as
magical protection.” 2| LIE0I|A] 0|HSS AT i720] oo HSat

oI ECHT Het.
2 T2 Al 7ol olo] B9I2 012X Sict. ‘@HEATY)
g2 o= HoiRIolt/ Al Wt 4+ U= /0jz2 250)

I etofl & Uctm LA O|FES| EfYM Ra

o M )_I'__
QA0 QUAAT QK0 AT QUL A 4 kT M2E 22, olFE
QIS0| UE HEY # AIHL OLIS2 (B), (D)= 2Eol0, OIEEIS

0] 259 EfAI0f 11 2tofl A7 ATt A 57| lsiM 22| AF 9
TV |E S22 42 Ax OfLEZ (C) £ £ LiZolct,

4. 6 & 0|5t “The tops of obelisks were covered in a thin layer
of gold..."0f| EH QHB|AF O] ZL7 |7} 222 MK QUCtD FHX],
QHla|AT M7t Fo2 F0] QICt ShXls LUTH

5. 2Hz[A3 #HO| US| Z= Q0|2 7ixl= =M 25 12-161 &
“These carvings represent the artistic... we have taken much

of our knowledge of ancient Egypt.”0fl ZI&&|0f QL Z 0] M
j2teo| Pxg IYsh= LE0IH, 0] LIZ2E Qlsll 22|17t &xi

=0
=21 =
UT Qi B2 OIEES SAIS Y 4 UCHT B HS UK

6. CtS 2% “Moves are being made to return some of these

stolen treasures to Egypt,” 2| “these stolen treasures (0] Ex{%

BEE)" 2= BH0A LIZ2IS0| O|ZERRH 0| BEES EXM 7t A
US Hxlell & 4 ATt
7. FOT QAF0 N 2H2 Ch3at Zot, "QUe|A3= 1L OIFEQIS
0] 259 ATS 55| sl AFBE 31 ek2 RE0ICL” 0| 22
eZ|AT0| el XM 2H2 249 2, =M 22 dsu 1 ¥
of M7AX U= 29| ojnjet 7Hx], 22| M 22 2Ee2|AZ9] o
Atofl CHalf TR UCH 2|0l FO1E 29zl [ 282 2¥2|A59)|
ZUS LIEHHER 715 WS Tiastn e (B), Mzl thel AYsk=
(C). QAtel Qool (F)7H gol €t (A)2t (E)= £ Li80IH, (D)=
2 dFo|ct
Vocabulary Review p.158
e 1 ! A
1. (D) 2. (A) 3.(C) 4. (B) 5. (C)
6.(C) 7.(A) 8.(C)
9. justify 10. regardless of
11. efficient 12. proper
18. do good 14. moral
15. identify with 16. poverty
. J
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Part G ==

L 2. Paul Revere also worked as a dentist at times.

—

1. 242 gt 7| 2g8e2 REsith 2Hil= 2H7E £l d2fal. &

Sentence Insertion 2 53 MHER2 AAR H5517| Yo =20l OtAIE 204 EX2 Y
R 28 57 oY B2 2o XISAtet SYSoIh =M TE B&

2. 28 2 AIZQ MM 2 HIZI0| 7| Z22 £0f E8lCk=

ZA0|ct, o] HXIE 27| sk, Z=USS =M FHo|2tn E2|= Hoist

o2
i

AgE AIERC S=2f THE At AZSo= MAM 71 2 &
I:I

Basic Drills (1) p.162 7Tt 2517F QT =AM RS BIX|Z f7| Qsh ZA| ZHoi| Alof
Cst LiRgolct.

1.(8), (B), (C), (A), (D)

Il
Al

2. 02 52 &% HI 17742 1775H0], 02 AlRIX| OIFAIST §2
2.6, 0. W, 6, ©) B Alolol 22 it 9200, DIR0ISS £2 M3 YRSl
ot EZWS Ch2akn H2E HSol A BTt 1 S 02
1. (1) @70| G2, XSS o 710 20| SX) YU, 12 S8} Do) RIS s o] AIEILLE Qs SXGI SIAl
SHNISS =2t ot Bae st 20 chgsls HSS st 0] ADIK| OFFAIS 50| 8 B B4 A
(2) BRIS2 R0IIS0| TS0 Tt S0IA 2Bt DS BAS A, O] BAIGHE! = 21t]0f (Paul Revere) SCt £ 2llole Hul2 AlziolAz
A = st 0 71443 M S, 2 ARIX| 0lFAISS 9iaf 2 H
(3) Z21Lt, 010] HFlolte, Ei FASH AWRISTIO| BA|| 2Xo| 20/ 2482 3iC. 2= 2TE(Concord) & A4S (Lexington)f ¢
S Olst=I0l RHS M= S7PF 2 3 910l 3243 Afof 2mdt Ho2 JHE RYsict
(4) 71 22 ol9lol w2, pe SIRSOIA AMKIS Ol HEt HS0f hsH
2|7} AHo[2t 210} e S0l ChshA Cha| M2iste 2 erSict. B
(5) I 4242 M= TI=y|et MSS Hom S S0 30 thezel 1. B0 BAATH I 201, 01 27| 93 Alststn Yl ciate Mst
AIZHS 2= oFdo] HMXISS SR 2 M LTt T e 2o|ct, B gl= ARt o1ZE 2R D20t
2. (1) zi20f, B=2IS0| Rotof2|7te] Matieix|= ZIEE 4 k= 2. 0|2 S M 7IE0| nAE 0fo] AEe MHsin = 22, 29 ™
SH7H LA A FRiot 2= 28 nEc
(2) 0l2= B2 (Marco Polo) o] & O[X7HX|, EISS MZoIM |
e EEE_ et 7 2 ﬁm A BithE 2o wcr.
ol € 4 9l 2 0l 520 [ D }
(4) 250 b= Ql=9} ofmal} SaOIK| FUT, HXIQISTIO| S4
= A 1. B2 Z90l, ABIS2 #7 naiEo|n aS0iA 2M9| ojjo| Elx| £
(5) IR, OfEH O|QUIMTL, FROISS FH2| HiTt HES DS S ol w0 St [ A0l S0 A4S st St
1, 9= % ofmalziele] SAE iR STINC S =0l e2s oo
742 Ol3H2 XIM0| RE37| Th20| 0[21 2S0| UACH T2iLt Bkl
LR ShA, B2 AEIS0| URINE £PS TriFict B Y=ol 9¢5a1|%
1. TSSO Fol MZHE 0| M22 S0l ul2t bH Tt 1 0lR S0 Australia) 2 M8 AUKISEI| ARIEt 170040 B, 38
T 2 M2T Y1} 22 Y= 522 7127| 9l 1ROl ABES Hlof LH7I
| ASCH @ 0 Y52 BHS HHEA7 s FHS 7iEs, ZA Al
2. B0 GHESAVIRCP OfF OISOIUIN BSE SEEM FHOL 3y oizaise axe ux Rirt o5, YRS 2AuY?)
L SIS AEPI SRS 2010 of ZRIe] 7l= a0l HEo|n, OXE S0l st EIT Ut Bkl @
&aﬂ%aor [AS2 0[740] B0l 7K/ 2542 QXIS UK, %
0 9A5a1|°'a|or9| Siligel 323 SHOl2I= 20[ch, QAL
1. Otherlarge Chinese projects include the O ARSI/, 2US Z7|6t= S OFR| Z2A AIZES0| Q191 Hlx2
world’s biggest dam, and a huge canal system. o7|5H= 24} 22 Zio|c},
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2. Q02 =8 MY 59, g=22 =X| Y (George Washington) 0|

4
0|1= 0|2 thE2 (Continental Army) ot @2 FMEZ HACt 2Lt
g2 ‘7IZSAH(minutemen) 02t 22l= of & o] #oIS
SE T ¥2 DshE UACH B A 715 8AHEES F=t0] Ot
DI Y0IQUCt, TS Y FQl0| OtLIH, of2lS moll ol &
7tst7] Sl ATE 4= U= X9 ALE|Q] 20|k Foi|l M Frtatnt
H

o
m
i
rio O]

Otml2|7} HFTS | MZ0l UM 71 SAE 21 QURACE. [ otz
7t FFUSL RN I53AE2 =07 0 gl Aoz
0| & ME J|aS3 Nt 252 IS J(ck2ln £E &0
&0] UAUCH T2|1 SAst 7, F=Z0| thEfsty| Holl ChE fIXI=Z oIS
BIC H7|M, THAl B=2FE 7|CHCEH 0l TA|Q| IFYE =IE0I3HTt
Ol HOR 52 AAZE 2 IHE K| fne =S mlZah|
sl S2I3C
° BH AM e

1. RO ZE2 M HAEIUS F 71X &5 62, Australia®l 22
=
=

57| 9lst = 2HOIck. Tk Australiaol tiet S20] Alxfst
x

~
ra

2. “minutemen’ 0| 0|2 SRS Qaf HMSE AMYUCHS F0F 25
O

ZESY0| 7| o]Hofl 0|S0] HFRISat Mt

Werds @ solitary @ Territorial @ aggressive

@ location
HEE]

2™ (Chipmunk) = M2|7} B2 Reritzx M7l A8 MRI2 =
S0}, HIE= MIA RN &HE 4 UX|E, 2559 FHITL = S0t
Hlal7t XKl 7HE Eslct, EYIE ZIxto] RS Oi=, S7 MBS si=
E20|ch 0|2 YL Zo|7t 40/E{0f| 0IE 4E UCt @ HEIES I 9|
Alo| ZslAl, CI2 2YIASZRE ZZHXOZ WS %m%_rtr. (B)

ChZIQL 20|, YIS 712 (IEES #H2S L] 98t oz 2o
=o 20t @ o EXEH Zof 43h Q=Xlof ttrar AYIsLe 2 Mgt 4
TS Aol ME ool MESALE 26l XMEsts F 7HX[e] HHE #ct.
X &0 MASHE Bl HEI = BES XjAIQ| W20I Ft Rofcirt o
0|2 XZBCH [ A 210| XAsH= o] R FHT7} ne Alzke
EEUE 7+s40| B2 30k Aot M &5, Y37t ME F1of MEe
o @2 ool 2oy 5 LIzt Afo], E=0f o|o| 20} £ Al2fe O 2y
7L EX 7P|= Bt @

HAGH KAtshe BiHOlA, AT E KRAO| W2 ZQ| 24 AX|ojs 4

A40Q M TOEFL READING

# Zojo| Rojcht 210/ 471 Sot. B ol B2 F7bEl meig Wez
St % 20| o[RS, IS HYIOA UFO| HE Yol Eict. 3t 2o
o £E2150] Ci SR0I HASIHRIE, FB0PA o 27} Hoj
olc, A1) Aok WHol 523 F1 5 siks, MYt AL 20lS
Ynge =

&4 & X 3 F Zols Lot Zo(7| mZoll, 2EAH H3|X|
.

¥ Words

[ species &

O territorial MEFES 7HX|2{1 5k

O solitary 1=st
Oinsurance 23
O location $Ix| Ostash M&1, 2EX

O aggressively 34%Cz TAECEZ [Opolicy &

a-&HAéln

1. "ol wiHol JHE 2 HEE, 720 It HOIE Fol7| shA KR
o| oMt W=g LIZIX| flotz Elchs Z0Ict" 7+ {21 2Fo|ct. 0
=22 &S larder hoarding0l &t LIE0|H, HHS ¢gst
E0[|22, larder hoarding?| E&0
larder hoarding...” 2| Y0l YIXISHALY, THE0f| CHSt Mol 2t S0
URIsHOF SH=l, “primary” 2t EH0| AFBERICEZ ol 2= Z0|
Cf RIHAZC

rr
Ao

MHE “The disadvantage of

2. "0|A2 of YHIS0| Y2 1A 3ZXe2 Holsh=XIE Y BH

Zl 2Folct. of7]oll dgE FEIIL 159 22 34
Moz Hofsiof sh= 0IR7t “this"2l LI8Y Z0|H, J12i22 1 0|F
Q1 “Often, while a larder hoarder is out collecting more food,
another chipmunk will steal some of the food it has already
collected in its burrow.” 7} F0{Z1 2%2| foi| 2|x[5H0F 20| RfS1A
27 olo1E &+ QUCH.

Reading Practie 2 p.168

Werds @ immigrant @ isolation
© discrimination @ negative

A
Of EAIS JHE ZH0j 0I2IRHS0l, S5 22 LiztolA 2Lt 22 ©l
T Z20I= o 22 F20l, 2 KK AT X2 2 4 U A

o|ct. o] X|92 EF A E(ghetto) 2t S2ICt [ AE= 0|2IXS0] A
Erfsl XL, AZE2t= HH o= 14M17(0f HL
NE=3

Zl%% EAIEI 7%%% XS0t H2[A|7l= o Rof|
EA| 204M A0foF 3UCt. [@ O[E2|0I2t FEQ| CHE ZAISE HLIAL OIS



wah 2t2to] HEE USUCE FUASS HEAFA &7 ot U2 tRE
o REoIM 1770l S Lt, 1940TH '—fil(Nazi) x[tel =0l M
CRAL AIRF=IICE, B AZto] 201 Wat, HE2k= 0= W2 0[TUR7t U
= Ol= X0l thaAl= ARSEIA =IRict. J2iLt O ‘é“ja*S S PN il i

atef of2f BRI AetES XU2 QAT

M
CH| |O-|O
— M—

J3{Lt, 0[BIRKS0| E4 BIZTL ARIGIO| APLEIOR HNsH=
20| 9k, 0[BIRISS SAlSl 3 22 KIS0 HFEo2M UL T

ot @ 228 HH 59 siLt= 2= 2stete] x|&xel #o|ct.

=

T

]

rr

|

2

o

_E

Dl

_I_

0

W]

min

10

mjo

>

o

=]

rir

1>

o

i

[N}

]

L @

HO N fjo
Hn
utl

N
o
30 fjo S on

A

N
APt gizi= 3300l of 412 F2ol Jksdit. o FRE H2,
AORN tf OIRIRISS TRE 1 =22 WS 4 Ut At 55
RlCts Zolct, @ 12iS2, HEats Sofs BR Byl oig

o AE9 7152 £5 3FHoIct. @

uﬂ.l|0|-|-|
BIone Tl
=

of

¥ Words

O immigrant 0|32l Oin isolation TN

Oterm &9 O association 4, ¢l
O voluntarily Afg=xo=z Oaccess T2 7ts, &7

o0 -E;H }\éi °0
1. "2 ZA9] 0] RO 70| A2t EFCE" 7 F0{Z 2Folch 0] 7
=]

thol 72 (This Jewish part of the C|ty)'0| ERtD SXICiD e
2, 0] 2% 2ol FLhel 7ol chsh A

= ZFe| Halof éérEE AES] ALg|E o|o|o| &0l ATHE “More
importantly, living in the same area often provides immigrants
with a social network that can provide them with help if they
need it.” 2| ol {IX[sHOF 22| SE0| RFAARLCY,

Reading Practie 3 p.170

Werds @ narrow @ argument @ adjust
@ aesemble

THE S

12i= (cetacean) 2 1ot Sn2HE ZFtoh= Hict ZRFO| Falch
TS SEE2 =2 X222 RIS, 250| Hats| Lot £EBK|=

=30

o
= =
7122l ol0jo] HeHg 2

T UCt B A LR uE S25, S5l Suaiet HudiS2, Ho| At
g YoM =2 SHE HESS E6EL. [@ S1S2 Y¥SS SoiM. o
27 FotHs o~ U= L0 B2 B2 17| 1S S0t 2=0t. @
JU =2 XS0 gt £80| e AXY, D= S2S2 R2 XS
Ofl cHSt 2= 20| Uk @) B2l U2 MES2, 1= 250/ MX0f At
HEOE 2 FHE A1 V| thiEol, 25| 252 XS0l &= A0[2tr Y
23t @ S1aiel File Aol k2ot oF 20%7F 31, gFel (sperm
whale) o Z<0l= 72| 600%7+ 3ct. @ 22iLt, 1ejol F0| Qiztel =&

CH M 37| 20f| 0] RAISTCR2E 89| AXI7E QUL @ AL, 12y
= SES Mo P2 Al 2ot 24 2 LEaint oixeiez, 2= &

20| =7] AR0IA| EESHXIX] YW EHE NS LR3I W20 Atz
XS0 YHERACh= AS L1 UCH X712 QIRE =75 MEdHs #S Hi
20 Chysh 2tgol M35t o 2 SESERRE AAZE X|7|H MER A
Y SSHES HoloF Yot vE SSSolE =2 XSS LS| /gt 2
23t Q0IS0] giRiCt. 259 82 7I2Xoz HAgln =718 MESHX=
2on, J1S0| HittolA 7HY 2 S2017| thE0f Xt 4o A SE= gt

&7 Words
O debate =Mslct, =2lstct O a school of fish 8t ©ef 2117]
L5 O adjust to ~ ~ofl =Satct

Oherd (4L ¥2) Sct

02

Oargument &
O resemble STt

O misleading 23t AX|7}t Q=

) -&HAéI X

1. "0l AS2 AL LS B Al ST ROl FUCE I FOIT 2F
0|22 "AlZ0] ALt Y2 2= #sa &2 1ol #s'0| MAE 25

“Dolphins will work in a group to chase a school of fish into a

narrow part of a river,..." F{0fl $IXIsHof E0| XIHAAZA O|{F 4

Quct,

2. “Ehl= Ao MA| 2RA & 2%E MX[SHL, Snehs 0.9%, H$RD
2= 0.02%2 RIXIBICE” ©f 071 2R 017t} mafol kot o] ]
22 HlSHT Qi 220| 12H ISIKISS Y2f mehR 0| b7t oIzt
of 2t #W 37| 20| maHo) XI50| &S Holakm AZSICt Bt
X[Bt 1 F0M, o] Tast 37| HmAto RS majo| 2|7t QIzte| B
Hl=cH #W 37| h2of @810 AX|7t lctn 8t F&o 2 o|ofzict. of
SHC HIZ 0| FHES FIErAlsHs A0SR 1 ZE Hof YxI5t0{0p
XSIARA 20| S1ZE 4 Qict
iBT Practice p.172
1

1.(C) 2.(D) 3.(B) 4.(B) 5. (B)
6.0 7.(A), (B), (E)
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Q17+ Siefo] et

=)

2 S22 Fhli= HoiE mf 0]0] 2ATEHH =0 AL, Aol &
(0] AUCH T{LE, AR LR LEE FLE AT oo dHz, 2t
=Hor7|2] Fhl= T 45%2 LT, 22| L= 12 E= 1340] 2 WK
TS| LLHEX| Y=Lt 0l of2iolo|SolAlE OESHIA U= B2 A

SiCh=s XS 2ofeict, 22t &l YEHol= 0f0|9l 21X =3 ¢
Ul k|2 712 EAZE lct. I ol HAIS2 32i0] 2ol
THEE0] A=, T2fLt o] HHChE ofojol EE}E}W?_* !

M)
~

Tl
=

5
=0
2t o

=

I

I'E

gvl_l

4> 1r
0 g N

=7|(sensory motor stage) 2 £2|0,
Ect 0] Al7| ¢, Fko tiERo 2
94 o l-f% Mot @2t dhent HHEL) [@ 0= B AIE ME
UCE JHMCH = AoE Hilj= A0S WSUAM €7 £

A

ro ﬂH)I'
0=
=

i
T
Ho

)
ra
Ral
=

+
30
o
O]

i

rin
[l
=3
rn
=

™ ZZt7| (preoperational stage) = 2 2A4RE] 7A7IX| X|
OlAf, OIOIEE 2l0f 7|&2 YUslx, O 23Eet EEE + QU
AlZICH OLOIE2 = O] AI7| 25, 878 CtAZle 3

JE50| flote X2 AL 7HE £ Qlche X2 OlaHs7| AR
J2{Lh o] Al7|ol aE0iAlE theEe] £5Hd JHES OlsHE 4

SUCH 740 £|H, YHHRO R OL0|S2 1240A 13M7IX| RI&E
X ZZt7|(concrete operational stage) ol SHAILE. 0] Al7|= &
{o| Whet atof| Chst 2Ot 22 ofsh, J2|1 MES og HE

=

o s rr
L or

rir —'T‘— J_llry_ bl
o

lo |y Mo
= N o
& ofo nd

30
rir
ik
rlo

_'T‘_

>
I i or
~

22X sE s

2 72 2+ Us sHeE EFX|0RIL, Lo DW“* EAl= oto|9] Sk
7t &M5| Y| 227t o EABCID o7 |= AR A5 | AlRfst
£ SAI™ ZE | (formal operational stage)O|Ct.

Olzi3t il W ElO| WAL mRO| YHL FS I %nga of
5| ofuf3t WA OlshE 4+ US B k7t

&Y Words

O partially €%, f28o2 O thinking skills Ak 71&
O cognitive 2Ix[2| O classify T-2sict, 2Fstct
O sensory motor stage Z#Z237|

O preoperational stage & Z%7|

O problem solving ability 2xs1Zs

o0 EH/\Q X

1. 6-7M £ “These stages are classified by the ages at which
they occur, but those ages can vary some from child to
child.”ofl 23, | Y2H0| YoiLt= Ltol= 0to|Sol| mat ChE 4= QU

2. 299o| L§E4 “cognitive abilities"E |7t MESIHM LHMGHE 52
Q

“begin to speak” 2t “develop their language skills” 7t Z2 2J0|
2= 22 0lsietH 12 £ Olst “The preoperational stage lasts
from... ability to concentrate for longer periods of time.” 0lAf &l

AEs e+ Utk

ZFOIT 22 Ch29 Ml Qo] THIZ Lig 4 Qlot “HEo] nix|at B
= gAIX x=zko| tH|(the formal operation stage)z2ta £2ICt/ 0]
= 0l0[e| |7} &tF15| Wetstny /oto]7} o1En Z2 oz M2isty|
AIZEEE mjolct” of Ml B89l ojo| Hel7t & Hetks| S0zt 27|15 &
=Lt “fully developed”7t “the last stage of development” 2} Z¢
2 olo|YE olaHaHoF SiCt. (A)2H (C)E & Hmf ojo| T2l LHEO] bt

X 2len, (D)= 2ln| eHe] Ao ZRE QA

keyword?! “mathematics” & 220l FOH || WEof M|ty
Al X =7 (concrete operational stage)2| AHOA 5

QICt. O] Bl BE 7AE 12, 13M7IXIE 25iH, ESE oo 2
M 74 0]F0ll= 821 JHES Olsist= 50| Z0=0f Ctn
OFx[ah 2Efol| 0] o ek thloll x0] st Tl HaiZictn

|F01%40F SHIE XY

mjo

A
o

021

of

a
o3
c 11
i

oo
njo
y il

il
e
4 0

Sl 25 74 020l 82| 850
OI|:|._

o
oA

‘0|42 0|Zat S2to| W2 QIS I Zujo|ct 2tn oo HiZ
0| Zuto| LhE FHoil YIxI5H =t =, “spend much of their time
touching things and putting things into their mouths” 7} 0l0|S
0| 0|t FZto| UHZ Qs Eoir= WS0|=2E 0] Fol HXlsh= A
0] MHslct,

0] 22 QI7to| |7} Qekst= ATHo] Mnt S, 0[2{5h WHo| we
of Ojf Fgtoz Bg Wiert, Wk, L Yeto] ATAIZ MAISH (A)9f
EHAI7} LIS0IX|= 7|&8 S (B), OIXLO2 mSA| 7t
312 MYStE (B)7t SHIEZ QURE 0|20t & 4/t (C), (D), (F)
£ 2% E21 dYo|7L, UBEX| 22 LhEo|ct

iBT Practice p.175
1

1.(C) 2.(A) 3.(C) 4.(A 5B 6H )
7. Irrigation Theory
® Project leaders became kings
e Some physical evidence to support theory
e Lack of existing government presents a
problem in theory

Monument Theory
e States result from common culture in villages
¢ Priests became kings

27te] @4

selo] gere Mool ofxIglo] 915 TrhAte 7ty B HolRICt
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17| 7ts7 st

270 BIE A z24d
ME Lo AlZ0|AC. =7t %‘é‘l% A7IE —.—’S%*# %'I'_ Y0l 0|AS 7t
SolA| it A LA, L2|= OFXE FEts| of ol 1t =7+=50] 4A

LIA| = R=X]0l el = 220

ol 1o =7+ ol chat &t

B X2 2= th7] flal 25t Tie s 2

ot Aoll7, &2 3._* DI%OHHIE HE 2 Ao|s Aot @ IXE

2 YTl AET
AT AIFS0| I3 MYS 01EUS XOIH

e =7 =712 0127 %% Zd0[ck 22|31, I At

0| =AUS Ao|ct. 0] 0|22 HYFsl= &

2 1o 1 Hn
T oo n

g| XIEXI=0] £|%0|
S 7EX| 3747t QlCt 7+ @:HE
ZAZ7HE BR0ME O 59 YR = ZA| KM ECHE o 22HE A= HO|

= OiTE 270 At EXol ZRHRITt. J2{Lt, i 0|20] ERE ALX|=
ZECHE AS UEHE S7= ot Bl 271 s5Z0lM 5852 S22 SRl
Of oiCt, THof 47 Zo| SR/ R B2 S=S MHE ER, MR B s
REAE 2 + U= H2 20| YS Aol 2ef 22| MES #2|5H| ¢
off M7t I OfHSE] EXNSIX| RAC2tH 12 22| SRE AUMSE A=

ECIE 0|22 ZHE &7| =7IE2 Uil 7I18H|E o= At &
AE =L F7PF EMSH| Moz EF X[He| s=0Me, 22 ut 3
52| 23 SRUACL. 252 HEXS0| T2 AE st 7IEHIE M
SI=E HHIMS 4 QUCH FALE 0|A2 ot oAl 1S 2 2o A
0|1, RSS2 LRE S Ao|ct. 0] 0|2 3lollM, 0] MEIXIS0| S22 ¢l
ot FdE O LietEel &lx2 0| EUS Ao|Ct, 2[=2 E0| AARE A
o2t FFRILE, Ee Al AZEHE MA2 0] 0|22 st AR
Holct Jziut, & o 0|52 78| AM2 J5°| X[HE MIststr| st
20| ZHeME MASHE ZFS0H =72 ABE AEo2tD FESIH &
OlstX| 4=Ct. WetM, 7| EH|e] M2 0|F =752 FAol| WE ZoiCt
= Zo|ct

&y Words

O without question =2 04X|Gl0] O irrigation &7
Oexcess Yo O upstream A=22
Ocanal 25t O justify SIS HYsksict

O downstream stR=2

) BH/\éi X

1. o 22O LEUM SAIE XIB2E 2171e] 71t =7t2| 40| 0|F0
Moo ot OS2 ChA| st oigE, 277t LolLis A2 Jtsatl
gictn st “agriculture” 7t “sAL &2 (farming) ot f20{US & 4
At

2. DfoF Mot RMM = & ofLel 0|202t: W=t ¢ mf, =7t
0| 2ol Zuto|Ltn 2= 2H[0[ct = 42| O|20M 25 HE At
S0l 85 edo| W HOo = Qla =717t YA =Tt Fct

o
rlo

b

w
=}
Ho
021
I
oA

Of o 20| FOIE (IIAIR W Utk 5, UL A

o

-
ol

of HS0| 27El= 0242 o 2| F0fol S3iLt Ho| M} 2

=
=

“(Large scale) irrigation projects”0|C}.

i

A (irrigation theory) Off 2 x7| Z7(the first states) S0

St Yore 222 =t 2Ho(CH B BAS 9ish B A0l 2
of BS3te TE0IM 27bt MRERID, 0l SAlol TR 22 &%
371 Sigt olpo0 = 1 X% 20| SEHSS F28 4 Urt

S 71M0| £HX] ApAl] SXIZ HIBISH| st 0| ABa weiolate
242 & (monument theory) ol Z51A| BHe AfRIS0| a8t L
20|22, 022 SAA0| 71T Y 280| JHSAS HASH| 3t
M2 Zolct

BHE SAE fleh Hzst X0l 22 7ML= dolot 2| o
2 2R 2ohel ojnjYez, Bil(irrigation)2te S0{7t B2 4

o
WE =0l fIRlsk= 20| RHARCH E5 “Large scale irrigation
. would have been far too much work for one
person, or even one village.” 7 2I702] AX| ofoff HES2Z T 9

off ¥ixlst= 20l EfFSICY,

projects,

« Project leaders became kings: 11Wf & &%=

« Farming not essential to state formation: /&M 5¢2
M S oH RAEMN= 2 8= WSoIct

« States result from common culture in villages: 19-20W & &
BN
+ Some physical evidence to support theory: 11-131 & &%
+ Lack of existing government presents a problem in theory:
16-17m & &=
« Priests became kings: 22-23W & &=x
£ olojstct.

. “holy men"0]| “priests”

« Favored by most archaeologists: 220 HZE|X| ¢4 LH0|c}.

-

Vocabulary Review p.178
1 1
1. (D) 2. (B) 3.(C) 4. (A) 5.(C)

6. (B) 7. (A) 8. (D)

9. misleading 10. insurance

11. voluntarily 12. in isolation
13. association 14. tense

15. adjust to 16. access

A43

Answer Key



1. (B) 2. (D) 3.(B) 4.(C) 5.(B)
6. (D) 7.(B) 8. (A) 9.1

10. (B), (D), (F) 11.(C) 12.(D) 13.(D)
14.B) 15.(A) 16.(A) 17.(D) 18.(D)
19. 20. (A), (D), (F) 21.(D) 22.(A)
23.(A) 24.B) 25.(C) 26.(A) 27.(B)
28.@ 29.(A), (B), (F

Reading 1: F}2Et1(Carthage)2| A4

TTH MAGA 7H 2Rist AL B St Jt2Ermgt, Jtzetns
212} LIRS T HolSe] SAICE 0f Sl Al A9IS0IXt HANA
7V 28 2% 3 SILISE HU7I0kPhoenicia)2IS0l olsH 71z 814
0 ARZEIRC FHZEtTE BT A, 3 Z2ist 7250 DYD AN

2 9| Za QUX| o A4-0] MEE X|=XIE0H 2ol SXI=IQACt. 7H2EtD
S22 MSS SR, 0242 Al7|0l= Ol0IS2 MEZ Hixls &
FO0| AACE. 02 B0 AN, JHT 7IEE2 MERRH H32 =22
27| IshM 259| 71 0{2I010]E FUCH.

7194 6M7100, FH2EFTO| MZ0] HXID UACD, T ZA= 2 XIF
3 29 AMES £1 D24 TARIIST SS6H S BY Fh2ermng)
S2 ol HARIS0IUT, TS0l Z2is 20| IO, 7|24 5A]
TIIAEE] M7 17| O] 5 2HE £5/2 ARG HHC, T2l o] H
B2 ARRYD AthEoz A Bt JaiLt 37| B4, FH2Etne
M of FHotet MMS X(20F YE, M2 Ho| LiELb Eict.

0l MZ2 X2 20j%ict B 2otet FH2EtnE 7| 2643KE| 146
S Aol Al ol FMS HCt. [@ X Mol MR YRS M2sH o
ZCh JeiLt 220, 20pE X HB0IM S23T, MRl FiZ o2 Bt
Zol0l Mo Beist Zololof SOIst=E 7t2Etno) 23

J2Lt 304 £, F2EfnE 20t E O YIS L2 HER O A
2 ChA| 29T B 20H= FH2En0| AHZDE YRS, 20t AN 27

r&"

0z

LY

0[7] Hoil, 7t=EtTQIS2 O|H2|0HE HEICH 7t=EtnRIS2| 42 =0t
H= THE He TialAZ H=2 SH0IA Ef SH|2 ZORIS2 2=3T

F12Ef17} ChA| BF B THH{ZACH Of THHY O, FI2EI Ol M2 ¢ o1y 2
ofoll =xg 4 @2 F=2 TS| Aot J2iLt 20RIS2 XP7IS0] &
S oA RS ool Zott JIARA=XIE 7|AA =
o thet H2 ZLE ZHlsin AACH 252 A6l EAI% 343 1

o —
Foll, 252 =AIE MO0|2 SEY B2, TS tulsie, ofF

I
N
[ru
m
Kl
ro

> Hl
Pa)

&7 Words

O primarily 22, &2 D oligarchy & x|

Oelected M= Oaid =&
Oconflict 58, 25 Oregain CHA| 20t 31=5iCt
O weaken 2fstA|7[Ct Ohatred 52

O defeat m{HHAIZ|CH, S2IXICH O afterwards Lt&0ll, 2 Foil
O short-live & ZLtct, 22H7tx] Zstct

0O burn something to the ground MHD|2 SEfRCH ZEstsict

3m E0IM “Carthage was ruled by an oligarchy, a collection
of powerful families” 2t giCt. “elite”= “powerful” 2t Z+2 20|
2 MGt

‘this"= HEE Aol AZE HES 7t27|= IR, & &2
& “The Carthaginians worshiped a number of gods, and in
times of trouble they practiced child sacrifice.” {0l “this

22 Brh 8, 0] el Zefst Ji2s0| A

practice” ol siE5H= A= Zdel
7N 252t =22 27| 2lalf 252| 71 0{2I0t0|E F0l= A0

CH= LHE0] O[ofX| 1 QittE E= HZSHAL

F0IZ 2E2 Of2 F Qo] T2 L0l 2 4 ot “7I3H 6M17] &
Ofl ZI2Ef12| M20| HX|Z A2/ 0] EAIE = XISsh FH| 2ret
TS =1 J2A EAF7IST sk | AIRRICE o] 2FoilA Hstu
e 2Rt IRV} J2|A EARZER HHESH SR, 1 0
R/} CHE 0| ofl 7t=Etuo] o] HE A E S OlsHBTHH of
BX| 27 QeSS St E 4 r

keyword?®! “completely destroy” & 220{|A] Z0tEH 281 Z0i|A]
32 4 Qlom, 221 £ 0[5t “But the Romans remembered how
close they had come to total defeat in the second war and
held a deep hatred for the Carthaginians.”2| &0 1 0|

4 9ict.

il
Hb
o

24W & O[5t LH%OHH E0pt o2 eR FI2EnE Th|stHA
US0| MAIED UCt, B2 HZ (heavy fines)s Hatst

Yo ZnfAX|. o] TFHolM Lok o ofLct,

ro

FOIT 2HO| U2 "20p7t S| ARl wat, Mol FAl 712
Efmet p2 2Hg oA =2ict” ol of 22 B2 Xizlof So1
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7tof2t, Z0tet FI2ELL O] & Al = 7F AO[of UN

o=z JEe! Of3 WEa XIHAHA 0|01 + rt.

10. 7I2EtT9] HALS AJMEH 0] 22, 0| Al 277+ 740{0F
0

2|2| Yt 2 Eo| ZA| &

PII=]
=2 0O
= =
SHE
=o muio
H OS2 ZUSg

&8 22 ofld. (C)

[

o 7

frorr

== THE

i
2
02
=2

Ab

i=
™

rhr
HD >

ofl M

B U2 270 Of T2 ARISTHE 223t 7Cfst Zgel £AMOZN 5
Sch. Blof e (RIZO| 1848t Z20/E7} iz)o| RO s ¥ 1
Zuro] oLt B2 IS 3 L20[E(Q| 7|2 YBAIZ HOICt, 0] 271, of
S F23 U0| YojHiLt. SHS0| IMIYLLE, S AP Eck. 2NN
O 1 ol FRIS0| HHR 7k YIS EY| R0, 1 B2 UARKT A
L2 4 ol 2L FE2 ZSHEIC of AUA He S20| Hict

SUSe AML 2ot FS 717 AHoIC 2L 1 Tl Y 2
£ 2SS WolSoln, JI2Hoz 70| Atlst s4T S Btk WKt
Se gzl Zig o HMRE A= Yt 12 WS WS 4
| W20, 1SS 7IEMOR WX} oom, 159 EXfE SH5H| of
S OfEC). USRS 1S ENE F 74K WO FUCH 1T WXt
S2 0 So[3t SXYS = WS WAslT, 30| T2 Nl S2E S
T 9k M HOIKIE, 1 KK B 47} gk 03 39, USRS 1
HOIX| o4 HHE BUB0lakn F58 4 Itk

YSIRIS0| BAEO ZAS FHE 4 s E T2 W2 ot o 2
SiCt B20| SAE ooz WA SofZ ZQ, HAMO| sHaTE W Sof}
S SN §8 120 S Bt S| SUS0) MY O (R4S, o u

=
L2 SR HY BTS¢

P =lE, 352 9A 3

Mtctn FE8 4 Qlct B

=SUES IS 70| L= BE ZUES WOIE0 TalstH, 2F0M
2 2 Aets st WSXE2 7{tist E2=250| 232 ZE 26|
£2| ZMoi| Yxlstctn WeCt [@ 22kl 251A1E SAof $IXIE s2Eo|
ZSE o st st |Xlzl= Zolch S3E0| AL, S5t
MEIX| UUS 20T, R27H LT U= HEQL 20| MBS EXHSHR| 42 A
olct. B

& Words

O supernova EAIY
O suck #olso|ct
O complicated 25t

Ointense TEE, Z=st

O atom Xt

porbit =2 =0, H=E 2t

o0 BH/\éi X

11. punctuation clueE 32

A
o

o]}
AN

= =Hlo|Ct,

“a supernova, a huge explosion which is more powerful than
any other event in the universe”2} 0[5t LHEOIA] O] H0{9| 22

Aeys) x1 i,

12. 57 Z0iA E2E0| EME 0f L5k SAUIM “the atoms of the
star get pushed so closely together”2t1 A5 =1 QICt. 0|2}

#2 o|E "1 U= H7IE H=rh

13. ZHQl =d2 ST 20| Al 7i2 ojof HelZ L0l 2 4 AT
“supernova (ZAM)0Al=, ol fXHS0| M2 OFF 7ol LA
M/ E3H0| 4T Zll O1F A= xLtZ = glA| BHECH AR &
E' D on| B9t FeksiA MAIE 27|E Fotof Stk (A)=
off Sk g0l i Lo, (B)= 7HY £ 24l st §1Z0] it

XU, (C)e A ¢ oo

!

n
10
lo
s

o
=}

1o

gl
Q'I_l
al

o
in}

14. Z0{ZI 2ooilM HESH SIEE 2 & QXD “the existence of
Il

15. 9ZX 'IRE'S ALY £ g7 th20l| S2E0| Ho|X| got 2 &

X
MHE SFot7| &x] 2ot ot 22| njoilM “them” 0] 712|7 = 0|

16. 11mf E2E 0|0{Xl= “Scientists have proven their existence in
two ways. ... It will appear to be orbiting another object, but
that object can't be seen.”0|lA] SHE20| ZIHE SHE = U= 0]
R7F MAIZ|0f ACE.

17. ES0| SUEZ WK S0I7t= 2&S Holsl7| flol ALZE! HIROICH

18. A ZHolM SUEZ S07I= SHSH LolLs pldSS 2F 4
all £ 2Uen, dS YESICHE W82 A= 0] UX| pict.

19. A%t B = 7St S0 st ¢ig0] U7| Hol=2 go| 2 = gict,
23m & 0[5te| “Each galaxy is held together by the intense
gravity of the giant black hole at its center.” 7} 7{Iist £24Z0|
£2%! 0|RE YshFER F017 22 1 Y2l @2 Xt2lof E07k=

20| HHsiC,

20.

njr

i
10
10
=]
o
o
N
=)

o 22 = $Mel= 0Py, EAE0| XS SHE

£ Qe g 12|71 0]70] 5He HE2 MYshs 20lch 222 0]

L8 =&kt U= (A), (D). (F)7H EolH, (B)2t (E)e 2H&sH LY

28 1 1, (C)E ME Arghof 2xtstct
Reading 3: HUEES

HAEESe A Aet 7t 7hE Mzt FEfel stutolct, FAIEE
2 ST HEOR of2] 71X| SAS ZEGHH, YAURHSS = HREE
o AlZIE0| ZE A2 HO|XlE H=rt J2iLt Mol tEE9| HAURES
SIXIE0| BRIE 52| EA 59| siLtes 7[2Xo 2 siMnt 40| Xj0|2
THEIX| 2ote ot 2E AR B2 2tn it 22|90 AN AXI7t
ofl M3t DHECH 7AZst ARHOIAIA 0] B2 "WA= (daydreams)”
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&7 Words
O schizophrenia HAE2ES
O display 2o|ct, E2{uict

O symptom 34

Otrait £4

O delusion 4

O point E2043=CH AlAfSHCH
O alongside ~2t &7, ~et SAlo O episodic &t

O daydreams Y=

Oalien 2(A¢2!

o0 -c‘yH /\éi X
21. o 280 =M FUREEZ| “frait’ 2 STt 22| X015 TS|

Rot= Ao[2t LRIt 017|M “trait” of 55 EEEH 2 =S SfAL

22. 5-7W & “In a healthy person, these fantasies are often

called “daydreams,” and the person is aware that they are
not real. A schizophrenic, however, does not understand that

his or her daydreams are not part of reality.” il A A0 UL},

23. 0| X9 HEE0|M structural clueE 32 4 QUCt = “delusions
in which a person may believe things that could not possibly
be true” Ol M 019 £ FZ5H & 4 UL

24. FN S| U

Of MHMK H37F LojLt= Al7|of S| LIEFHTE

=

X, M HEE doy|= Y010 Ectu 5tX| §22B2 (B)=
2|

25.

26.

27.

28.

29.

HAREZ0| “episodic illness”0l2t= LiE0| 74 o] 2%9| &
= =
T

S EXVXIQ L “with periods of severe illness

m
m}
n

usually lasting several months. ... with less severe forms of
the illness” oM HAZHE 40| &4 F&5| LIEHLE= 20| OkL2t,

Aot LIEHE Al719F ofstAl LEHLEE AlZ|7t Bt Eth= AMds ¥

rhe
Ho
ox

[l M= “Severe schizophrenics experience these

episodes more frequently than those with less severe forms

of the illness."0lM T tha, & “Severe schizophrenics” 2t
“those with less severe forms of the illness” 2 H|wata UCt, 1

B2 “those” = “schizophrenics”Z 7}2/ZIct.

2 MY & “a schizophrenic may believe that... which is
just as unlikely” 2t 12 QlsH 47|z S mlahe] A2E MAE 2
& “Under extreme circumstances, ..."2| Af0|of $IXIaH0F STt
J12{of 2ol oSt 7|2 201 Ao R R AlEksto] STl A2 4

HO| RAARA| orRalEch
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Actual Test ®

1.B) 2.(C) 3.(B) 4.(C) 5.(D)
6. (A) 7.(C) 8. (D) 9.

10. (B), (C), (E) 11.(D) 12.(B) 13.(C)
14.(D) 15.(C) 16.(C) 17.(B) 18.
19. (B), (D), (E) 20.(C) 21.(B) 22.(0)
23.(B) 24.B) 25.(C) 26.(0) 27.(B)

28.3
29. Continental Plates
- Made of lighter materials
- Rise up to form mountain chains

Oceanic Plates

« Commonly associated with volcanoes

« Involved in island formation

- Usually pushed under in plate collisions

Reading 1: LUIHo| Meint #elel &

rO
du
10
la
Hu
T

H 2xt M7 e =, tHRE2Q] LIX| (Nazi) XI=XS2
TSM TS HRARIL, S8 AZ2 S2(X| ¢

xse 1

Cf.

30
9
i
>
Jn

S
rg

i
@ ko

0z
B
oY
T 50
o x
W
s 0%
on O
g o
i ﬁo
NG
T
[0):0
b 4

mjn
o
J
e
9'|_|
=]
H
ne
4>
39
|
]
o
]
G
rlo
>
o
mun
10
A
=
0x

r2
02
10

4>
ol
2
>
rd
mo 4o
sl
32
inl
n

o

k=)
08
)
nx

o2 v rlo
mor
4 o
30

o

S

)

°
2
HO

off Eat7] A, ol (Yale
Milgram) 0|2t= M2|stXk= 1963E0]| §t 74|

E
9|y
El
lo
[>
m
it}
e
M
02

(Stanley
CAE2
HLIAXIZH o
AfolA &
 IERE2
b M20=
)

>
oz
il

mjo

>

bal

sat

o

=
o
ikl

2
ro
>

o

0] ZVIHEE @TEIC T8

I=2 /0] UUCH Blof T A0l B

[ollAl F7| 51 713 4 Yl BRE
X

0l

un
10
o
i
=

i
rh T
0
)
o 0

of

0
o 32 Trlo J

HO
> Mo
ol
40 Mr o

I
< e
30
3Q
[l

t

ar
[ru
H-|
Jhu
ful

i

|
N
ot
B
Fu
nrjo
g0 3¢
30 A
e
JLRLE e}
TR
I o
o mn
> 1[0
o e
n =
[}
Sl
D
R
32 oA
ooy
ol
s
-
& =
S B
un
=3
S o

Ilr 1o _||}i
il ro
il
rir ;EE nx
> 0
_\'-l_ N
2 =
g

H

i

ro

re

~

pal

i

i

4>

£

3Q

kel

e

ot

N
$0 o

R

i

40

on
o rm O
N b

i

3Q
inl
2
~
=}

Bkl
ol
=

ﬁ
b

o

N

M

el

N

32 [
52

rio

E

09

bl

ufn

ro

N

o

ol

N

z

ful
[
rir
]
fun
2
>
&
Gk
ul
=
Lok
r>=
B

iz
il
mo o
=
>
2.':
=)
ro
n
=
ng
3%
iul
i
Iy
X
0
E
el
pal
It
12
(o))
a
S
N
2l
~
ot
N
S o
oy

Xg=el £20] 2 M7KIE ALSHM T7| 52 FCH

HE2, J%0| AAzE BRE US Sl= W02 LYk ok, R
=2l Affo| Mol tisl TS| ZsA E25517|E Heitks ArdE BrRict.
2 a

[=] = 21
2|2] ZFoll 2012l =Hdgnt J2i9| X|eiof et MElSIRtEe] dus

BERLLL, 4213t ABIS0| BSHRIS WAIS HIRYCH Aslo] 21 5, 23
S WIS Aol i) XD, AR|2E OIRE HEIX UUTHE HS
0l0F7 |3 FHCH OJZOIE BT, U2 WHASS 150l YSOf CHsh 2
S WAMUS A LM, A2 FNE YD ) olet 2L Mz

X7 Words

O be tried for ~22|Z xHEZ BiC O subject I|&Xt
O humanity QIZfolf, Q=% Olethal xIZXQI
O concentration camp ZH 84  Oconduct st
Oreadiness =4 Omorality =54
O electric shock 7|52

Oincredibly CHEts], g gl H=2

° UH *él °
1. ‘“this"= HEE YA dZE W8S 7t27I122, o7IM9 “this
question” 2 HtZ Y0 L2 ZE2! “"How could one explain the

readiness of such large numbers of people to hurt and Kill

other people?”"& 7t2|ZIct,

2. O{7|MQ| “The subjects’ 7t M AHZE ARE =, “People (who)
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(B)&o|ct. “major geological events”
7} “nearly every other geological event, from earthquakes to
the formation of mountains” 9| &S 2lolstch= 24 olshsHof st

C. 7HY go & 2iZiep7| 212 (C)e 0] #a0| X|Tlnt Ato] #pt M

$iCiT #ooa Ho| @ 4 it
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“others” 7 “other (tectonic) plates”Z 2|0jgS & 4 L,

170 & o[3te] “This is the most complex type of movement,

and its effects depend on the type of plates that are
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smooth motion” 0| OfL|2t F|
7l 0|0{= Zo]ct.

_O'I_I
=
30
rir
Ao
02
4n
=2
40
Rl
g':
(=]
Ral
e

>

29. - Located only in North America: 220A HZE|X| 22 LIEO|
ch
+ Commonly associated with volcanoes: 20-221 £& %5t
. 32 Aol T #Ho| S W HAUS & = QUCE

A
+ Made of lighter materials: 18-200f & &%, 3 To| ©f A2

EAE FYE0] JUrtn o2 IEH0| O 7R SEZ 0|20{K
AUS AYS & = Uk

Involved in island formation: 21-24%{ & &%

Rise up to form mountain chains: 20-211 & &=, tiELtat

SHYEO| o, tHELC| sHet77t Aol #C

.
Usually pushed under in plate collisions: 19%f & &=,
Responsible for most earthquakes: XIZXIg Lo7|= mo| thE
THOIX| SHYEFIX| THE |0 A EIX| LRUCE
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Actual Test ©

1.8 2.8 3.(A) 4(B 5B
6.C) 7.00 8.(A 9.
10. Pluto
- Most distant planet
+ Existence inferred before actual discovery
Uranus
- Irregular orbit
- Easily seen with telescope
- First discovered through direct observation
1.B) 12.B) 13.(C) 14.(A) 15.(B)
6.(C) 17.(A) 18.(C) 19.H
20. (B), (D), (F) 21.(C) 22.(B) 23.(D)
24.B) 25.(B) 26.(C) 27.(A) 28
29. Drywood Termites

- Fewer soldiers
» Smaller colonies

Subterranean Termites

+ Colonies harder to locate

» Cannot live in desert environments
» Must travel to food source
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O Pluto Hay O Uranus ey

0O Neptune a2y Otelescope Led

O breakthrough H|2fZ ZIE Oinfer F&aiCt, YAlstc
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O astronomer 28t
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= HIZ2 o EH0l A5 HYHo LS LSt

2. 5-7mf £9| “because by studying unexpected changes in the
planet’s orbit, ...in Uranus’ orbit, which told scientists where
in the sky to look for Neptune”z} 131 & 0|3} “Again, the first
clues to the planet’s existence came from the orbits of other
planets. ..."9| 10| M2H, s4nt YA Exi= 2F &Y

o Hl= HTE Safl & 4 UULH.

3. Mol gt7A0| ZQ35t “breakthrough’ 2t 3t 0|R7} 'THE SAME9]

T
=
un o
2}
e
>
o
Q

2 2 UR7| E (because by studying unexpected
changes in the planet’s orbit, scientists could infer that it was
being affected by the gravity of another, unknown planet)'0|

2te AS HZolo] 7K ZEet 21 1 Ect

4. ‘“abnormalities” 2| Xf2lol E7|ES s E0 2R9| LHEA THE
x

axeigl.;ﬂ )\E-ll:g EEI- _/'\_ OIE E_% J_i_El:|-_ 2o AL A2M .'IL_HEO Eil

5. ZOi7l 22 T3 % sl oo H9lZ Lis 4 ct. "0l S el
H2 MHOR 42 HOIRITH ALt YA HYY BF J1AR
& X7 2t 4 87k o 2 Achst #Holy| Rolck ol F ol £l

£ FEGLE TSR] oin FESHA 21 Qs 2712 2L (A)Y
“only possible”2 2%t0| o|0|E fZA|7|H, (C)2} (D)= BF F

o LiE0| 29 2l0|E eHFat UCt.

6. 10-11mf &2 “This made them relatively easy to find, even

with the telescopes of the 18th and 19th centuries.” 0lAf, “AX]
0f 18, 19AM17]2] LHZCRE LS 4 UCH T HBEH Z{o=EF

olmiol ¥HE Y50| JCX| EX| HUSE FEL 4 ULt

7. 12m = 0l3t9] “Finding the ninth planet, Pluto, proved to be
a much harder task because it is not even as large as our
moon,"of M2, HYHo| L2|2| YHCIE X0t HS Yist| &

SACH 3Hch
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9. ZOiT 2Me ‘i 2YL 02S0| HHK|E B3I, IRSL
St=0lM |02 EFs| 2 4 URICL” o[Ct. Ol |00z &2 4
Qe (clearly visible) M0 &s HZstn Y= 20|22, 02t
= g2 LZH0| QlofoF & 4= U (not visible in the night sky

without the help of a telescope) 40| HZ ] MHED U= 2
A2l “But the final three planets, Uranus, Neptune, and Pluto,
.. A0l 2HoF 20| RHAZ A 0|0F 4 QUL

10. - Irregular orbit: 5-6Mf & &%
* Easily seen with telescope: 3-4, 10-11% & &=
+ Most distant planet: 14% & &=x
« Extremely strong gravity: A5 E|X| 42 LH0|C},
« First discovered through direct observation: 3-4Wf & &=
+ Can only be seen when moving: AZE|X| 22 L{E0|ct.

« Existence inferred before actual discovery: 15-168 & &%
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Reading 2:

of2] BHOIAL, 7 o SHSXIS 715 Haks 017 B7t0l Kol 2t
Olck. B XIit 1001821, 918 iat= M7IZ2] 2094 B 0J3i0lM 25 702
ol 0122 A 847} =2 SVt B AICHE, 10047 1918 B ol
x| 2 A1 AtI0] Ablysict Biefol 1915 B AbIZOl BN of HC CHA
s, AR 917 BB} OLAR] Ab| Z7H80| M of ECHs SOl
OE SOi, £l ¥R 1% B2 3Kt 12550] ZHCE TS 1 o

= ALESt= dloil=, 3817 Ol 57t hE, 30 00| ZE Zo|ct. [

AR AL O] AR, M RHEQ| 0|8 59 RE 32 o WHHe
ZE 7|2 HEIE Op7[RITh OUXIE Mdsl7] flet o B2 &2l HRetOE
ROl Has XT 2HE otA7I= sl 22S UEIT. o W2 A
= | e, RS2 o €2 82 sty LIRS Hof Hot o
CiLf, 2= O B2 ATE et TS 74617| siM LIRS Hlof Hoh I
2 RS2 X7 2H2E SHske diofl o] aiaxel f20ict. oHE2
S7tohs 277t Xi7t 23] 0jxls Sgel Hatt F 71X oY #o|x,

Q17+ S7toll ClsiA, Ml7oi =
7t Uen 49 BS 017] YoM O B2 M X2 AHIE HRZ it

=
ot Li2tS AT{EHE 0] Ardoll that S=tet oS & 4~ AT =2 139 27
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Of, MACIM 7HY Q15171 W2 Li2tolct B, Of CHEZ MRS9| &9 +&
2 MM ArZSECt 20 ofzfof ok a8z, Bl 52 AL
Q| 0]Z0|Lt Y2 ATIECH 2 M2 MK o|UXIE AT O
gLt S22 M2 Y AHX|1 2o, oS o B2 S=2US0] M1M7H
MERFAIS J|THSH7 | AIRfSt QUCt. g2hek ZZQIS0[ M1MA L Madtils
Y ER. M7 T2 Uzte] 42| +Z0] 3ot 22 =5 FAISIHEE

e
HAAC] o xIQE M At 272 F Hi7F 2 o[,
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&7 Words

Otriple Mbh7} |ct

O trillion 1=

0 consumption AH|
O currently $xj
O standard of living 49| &, Mg&+&F [Qattain Zsich, 0l2Ct

O populous QI77t H2

') -(‘;H/\éi X

11. “pace’ 9| xf2|of ztzt9]

0] 20| 0| 29 4 20|22 TH| LHES OlsHStTHHE = =F0|

2I1E tigdel 21 b HESE AS Herh

= Zo|ct,
12, BHHOoZ 740lo0| H= ot MHEXRIS 100 MECt of HO| AFEsitt=
70|, °1729| Z7IHL} “consumption” HIE0| O &Ch= A 2lojgt

[l

= 20 i8S Fmatol 7k Muet BeS n2C

13. 11-14® & “In order to produce more food, farmers cut down
trees to gain more land for their fields. ... Those trees are an
essential part of controlling global warming.”2| L&A &0l

SEA
gt 4 UL,

14. 6-8W & “For example, it took the world 125 years to use...
which is almost five times as fast, not three.”0|A 3tiZ S7t5t
= 0] Hlsl AR= 742 5HiQ tE HIEZ AIZECH= AMME X
Al5HH, XH0| QI B710| 2=t EM O HE A= 2 AH|ED US
S LIERLD QlCt

15. O|AE2 F 719l “examples of the impacts that the growing

population has on global warming”0il 21ttH, T2 'S U
T mot oigEt > glrtn ooz 0|0 T2 eSS Jlelde g
AL

16. 16-18%f £ “In addition to a growing population, the world

also has a population... requires the use of even more
natural resources.” 0N O =2 Mgt 2Z0| o B2 HHA Xt Ab

S 78It MEsHA AF /0] ULt

17. Z0iTl 2L cigm 2 Ml Hel o] 92 T4Elo] 9Uct. “BloF

£ ST0IS0| MM MEAMS ZH=CHH | =0t HOIXIRIO| FA
ARl 22 S v B HoIcH KITNO| T2 BE Lizlel Mg 4
Zo| @4 o] QAL SIHEE" of Al olo| H9lo| i8S B
=

E
Hebs| maksln Qe &S DEC “the standard of living in

every other nation on Earth remains the same as it is today”
7} “all other nations keep their current standard of living” 2t Z
9|0 U OlaHaHOF Bt

18. &g +Z0| 2= At|ofl D|Xl= S&FE HHaP| Hall. 2
=)
=

19. "Z5| 0122 M7t Ml b Of B2 Aly, izt HOIXiRiS Tz o
A EIgicHs 22 olojsict. 7t Rojzl 23oict. =2lHoz 2 1 9l7
7h Ml B2 SOj=tol et 1R} Atlsts RRE M 87 o BRE 2
0[92, 0/240] LHZ0| 2177t M HHZ S0l S RIFsiCts 22 o
4 9lom, F0{7l 232 0] L§B0| L2 Flofl §IxI5ts 20| stk

20. 222 7|5 ol B2 B2 Oxl= 2912 & | T2 M m N

Reading 3: E7Ha]

SI7H0] (termites) =, LIRS HHO|2 Ak= 21 7HI:I|7'<1E.':*I M7l
olct. ARES B35 “Sl7io| (white ants)” EE
AXMZE JHo|7t ofLch N J2iLt 82 2E
E3g 3ot UCh B 7Hojut ot Zol, ol ZHos 2E
oigiol, ZHe| R Ug ste Yhn|, J2|1 O 2582

255t YoH01E0] Ut @ E7Hole] S0 wat, 5t 2ol
t2l2f &l7Ho)7t & 4 UCH B E7H0] ZH7F 4P ot stz|H,

HIHE WHAIZ M22 ZHIE CHE7| 2isH ottt
Ch ASIA7|7] £7| 20| £ LIRS H=Ct 0
AAMO|X|2H EE TteEr| AFBSHe SXi7t
|7] W20, 7IFS0lA= 25| LHE Adlolct. 0
l= B8 1522 o742t 7HE EME Ho| Yoile=
Mole HZx= IH%7HD|(drywood termites) & XIEE70
termites) O|C}.

AEZEMEAD= 2S0| HE LIROM ZE 2ES F
A‘I 0|5 204Xt 1282, J52 P XS 7|SoMz &
Ho[Ql LIF £0i 21 ZHIE XM, m2tA 1 Zat, 252
AN st of 2372 2= XISEA0|0f HishA LetHo= Rt o
29| EH0|ME, HESMETDIE A7t StstE o0t ZHE Mt
THE HLX] 27| 20| HESMEN0IES XIAHoR ZH|| M7|E
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REEH0IS @ 20 A0f 20|2 2 Uyix| 22 $ert 152 U
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21.

22,

23.

24.

25, °

26.

27.

28.

29.

&Y Words
O termite 1740 Orely on ~0f o|=5tct
O colony =4l O spot 3T}, gzAsict

O be overcrowded s} =|Ct, 2%6H XICH

Otroublesome Zx|7{2(Ql, 2XIE ¥o7|=

o0 z‘yH/\él X

EHol AXZ JHol= oL x|t JHD|2t SEE B2 “characteristics”

£ ZReITH= 2US AEAH0 FOT BIIS ChYstel Tk HHst =

8-9m = “Termites eat dead wood, because it is easier to
consume than live wood."ilAl &l7i0j= A0} QL= LIE7t ofd 0]

0 £2 URE Heris #enz ozt RS Feltks X2 EX

oet.
M LIRECt “Gonsume’ 57| 7] th2ol, F2 LSS Bt 3
ooz, PUy Hrl ol £02 MSS TR B 4 T

APIE0| UHRZ X2 TE Hol HE 4 U] t2o| Eviolg2 EF
t

ASoIAE H7k2 EX7t ofLfatr ot o|A2 EUH0I7F 2 LR
£ 27| w20l o7l mlsfolct. 0l Qs ElJHn|7t iS22 oA
Zchs 79 Wgs FustH, &ulolel HeHS HFst7| s *home

‘this" 71 7127 |= A2 EE HIZ o HgEl= WE0IH, o7|A= 2
et S7H0)7E LEPHO 2 BiEC 2 HojX|= 0|RE 2= AYS Olsfst
L.
16-17M & “Like most termites, drywood termites only leave

their colonies when it has become overcrowded.” 0ff AHg|0f
QICt. “overcrowded” 7} “the population becomes too large” 2t
Z2 £0l2k= A2 0laH5HOF Sict,

17-19% & “Since they do not leave their colony, drywood
termites must constantly remove ... are a sure sign of these
pests.” o] LKA E7H0|e| 2HIE2| E40f thsl =254 & 4 Ut
07l 22 “2H0|E2 A LolA Zixte] 2ol mat M2 Ct
E dge 22 Zenh"9 Xo|22, o7t 21 e ozl &
M (jobs) 0| LIFE 2% “Like ants and bees, a termite colony

has a queen, ... who protect the colony from other insects.”
Floll 2= 0| 7K RFAAHLCY,

+ Cause greater levels of damage: S12EIX| ¢4 LIZ0]Ct,

+ Colonies harder to locate: 22-23%W & &%

* Fewer soldiers: 24-26M & =, subterranean termites7} &

US| o +9 E2 9 ZeUIS 7HX|2 ACta 3Hcth

+ Cannot live in desert environments: 23-24% & %X

* Must travel to food source: 20-21W & &%
+ Smaller colonies: 15-17/ & &x

* More likely to create new colonies: AZEIX| 22 Li=0|C}.
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